
Tax Outline 
Definitions: 

· Gross income: income from whatever source derived (wages, salaries, dividends, property, etc.) 
· Adjusted gross income: gross income minus the deductions allowed in §62
· Deductions: all outlays and expenditures permitted by the code (wages paid, depreciation, charitable donations, etc.) that reduce taxable income dependent on the taxpayers tax bracket 

· Credits: applied after the taxpayer is taxed at their tax bracket and dollar for dollar reduces taxes 

· Personal exemptions: exemptions from taxable income as permitted by the IRC

· Standardized deductions: designed to relieve people with modest incomes of the burden of tracking their deductible outlays and filing complex returns, and ensure the lowest income persons have no tax liability
· Itemized deductions: claimed by taxpayers that forego the standardized deductions because their itemized deductions exceed the standard deductions, like mortgage interest, state income, property taxes, charitable contributions, etc. 

· Tax paying units: married couples filing jointly, married filing separately, individuals, sole proprietors – person who solely owns a business, partnerships – combination of two or more individuals who agree to carry the business as co-owners, corporations – legal devices for organizing economic activity which are treated as separate taxpaying entities 

· Realization: a time where enough has taken place to impose a tax 

· Recognition: a change in circumstances, such that gain or loss must be taken into account and imposed  
Criteria for Tax Rules: 
· Fairness 

· Horizontal equity: treat those similarly situated in the same way 
· Vertical equity (progressive, regressive, flat): those who are not similarly situated should not be treated in the same way 
· Administrative feasibility: the simpler and more objective the system, the better 
· Cost 

· Objectivity 

· Simplicity 

· Economic effects (efficiency): tax should interfere as little as possible with people’s economic behavior 
· Unintended effects

· Intended effects 

· Impact of changing rule 

· Short-term (transition) 

· Long-term 

What is Income? 

· Income is a concept; it is not the same as cash or money in and out 

· Progressivity says those who are better off should pay at a higher rate 

Basic Computation

· We start with gross income.

· Some items (qualified pensions, gifts, medical insurance from employer) are excluded from income altogether.

· Adjusted gross income is gross income minus certain items, mostly business deductions and a few special items. See Form 1040.

· Taxable income is adjusted gross income minus deductions (standard or itemized – See Schedule A).

· Tax due is taxable income multiplied by tax rates.

· We have special rates for dividends and capital gains.

· Credits are subtracted from tax due (including amounts withheld).

· We then know tax due out of pocket or refund from government. 
Some Characteristics of Income:
· We now use a broad, but not all-inclusive definition of income.
· We no longer rely on the Eisner v. Macomber's narrow definition of income as "gain derived from capital, from labor or from both defined."
· Instead, the tax law relies on the definition in Glenshaw Glass pointing to "undeniable accessions to wealth, clearly realized, and over which the taxpayers have complete dominion" and observing that Congress had applied "no limitations as to the sources of taxable receipts, nor restrictive labels as to their nature."
· We do not, for purposes of our tax law, go so far as the Haig-Simons or economic definition of income, which is consumption plus changes in value of what you hold over the accounting period.
· These definitions affect the tax base.  One of these definitions would exclude from income prizes or windfalls, another, the increase in value of an appreciated stock.
· Noncash receipts are included in income, but often pose difficulties in deciding what is income.
· The Benaglia case asks whether to include certain kinds of noncash receipts in income. It involves questions of horizontal and vertical equity as well as exposing how difficult valuation can be.  Even if the rule is to tax fair market value, how do we determine fair market value?  Is it retail cost, wholesale cost, cost to employer, cost of alternative arrangements, subjective cost?  How would we determine each of those possibilities?
· The issue in Benaglia now codified in section 119 and interpreted by regulations.  Without section 119, regulations under section 61 say gross income includes income realized in any form, whether in money, property, or services (reg. sec. 1.61-1(a)) and that if services are paid for in property, the FMV of the property taken in payment must be included in income as consumption (reg. sec. 1.61-2(d)(1).
Section 61: Gross income means all income from whatever source derived 

· Including but not limited to:

· Compensation for services

· Gross business income 

· Gains from dealings in property 

· Interest, rents, royalties and dividends 

· The statute and regulations make clear that income can come in any form 

· Reg. sec. 1.61-1(a) income realized in any form; services and property as well as cash

· Reg. sec. 1.61-2(d)(1) fair market value of property or services 
Credit vs. Deduction
· Credit reduce taxes 
· Deductions reduce taxable income 
Each of Taxpayer A and Taxpayer B has spent $2000 on “energy conservation expenditures.”  Assume A pays tax at a rate of 10%, and B pays tax at a rate of 20%.  A’s taxable income is $50,000: B’s taxable income is $100,000.

 

1) Assume each is allowed a tax credit equal to 15% of the first $2,000 of energy conservation expenditures.  Each therefore is allowed a credit of $300.

 

A’s tax before credit: $50,000 x .10  = $5,000

A’s tax after credit: $ 5,000 - $300  = $4,700

 

B’s tax before credit: $100,000 x .20 = $20,000

B’s tax after credit: $ 20,000 - $300 = $19,700

 

The credit has saved each of A & B $300 in taxes.

 

2) Assume instead that A & B are permitted to deduct their “energy conservation expenditures” in calculating taxable income.

 

A’s tax without deduction: $50,000 x .10  = $5,000

A’s tax with deduction: ($50,000 - $2,000) x .10 =  $4,800

 

B’s tax without deduction:  $100,000 x .20  = $20,000

B’s tax with deduction: ($100,000 - $2,000) x .20 = $19,600

 

The deduction has saved A $200 in taxes.  It has saved B $400 in taxes.  (The tax savings or value of a deduction equals the amount of the deduction times the tax rate.  For a, this is $2,000 x .10, while for b it is $2,000 x .20).  Thus the higher the rate at which a taxpayer pays tax, the more valuable is a deduction.  This is the flip side of progressivity.

Calculating After-Tax Income
· Gross Up: divide after tax amount by 1 minus the tax rate to learn what amount is needed pre-tax 
 

Assume that you are going to take on some extra work, paid at an hourly rate, in order to have enough money to go on a vacation that costs $3,000.  You will need to earn more than $3,000, because you need to have $3,000 left AFTER you set aside money for federal income tax (not to mention state income tax and payroll taxes).

 

If we look only at federal income tax and assume that your marginal rate is 30%, here are the steps of analysis.

 

$X   minus  .3($X)   =  $3,000

 

1($X)   minus   .3($X)  = $3,000

 

(1 minus .3)($X) = $3,000

 

.7 $X  = $3,000

 

.7 $X  = $3,000 

   .7       .7

 

   $X  = $3,000/.7

 

    $X  =  $4,286

 

In general, to get the pre-tax amount when you know the after-tax amount, DIVIDE the after-tax amount by 1 minus the tax rate.  This is called a gross-up.    
Review Questions:

1. Agatha is unmarried, without any children or other dependents.  Her employer supplies her with $5,000 worth of health insurance.  This employee benefit is excluded from gross income.  It is her only employee benefit. Agatha earns $100,000 in salary. She has no other income. Assume that the standard deduction is $6,000 and the non-child credit is $500.  When Agatha adds up the itemized deductions she could take, they come to $3,000. What is Agatha’s taxable income? 
a. $94k taxable income 

2. Assume the following rate schedule on taxable income:
a. First $30,000   20%  = $6,000  
b. Above $30,000 to $100,000  30% = $19,200 
c. Above $100,000  35%  
d. What is Agatha’s tax due? $25,200 - $500 = $24,700 
3. What is Agatha’s marginal rate? 30% 
4. How would you calculate her average rate? 25,200/94,000 = 26.8% 
a. Tax due divided by taxable income 
5. Would an additional $1,000 of expenses that could qualify as an itemized deductions change her taxable income or tax due? – No $4000 itemized is still less than $6000 standard deduction 
6. Now assume she has $8,000 in itemized deductions.  
a. Would she itemize? – Yes 
b. What is more valuable to her – a credit of $350 or $1,000 in deductions? 
i. 30% x 1000 = 300 which is less than $350 credit 
7. How would you calculate how much she needs to save to have $2,000 after tax to buy a new television?
a. 2000/.7= 2,857.14 

Additional Questions: 

· Does a taxpayer have income if, for winning on a game show, he receives a new car?  How much income?
· Yes – FMV of car 
· Does a taxpayer have income if he gets a Kindle for opening a new bank account?
· Yes 

· Does a taxpayer have income if her employer supplies housing for her? How much?
· Depends on if she meets three requirements of Section 119 

· If not, includes FMV in income 

· Does a taxpayer have income if he receives a discount on the goods his employer sells?  What if he is the highest paid employee?
· It depends on Section 132 
· Average gross profit services no more than 20% 

· Nondiscrimination rule applies – if only he gets discount, then supposed to include all of the value in income 

· Does a grandmother have income if she cares for her grandchildren 40 hours a week?
· No – imputed income 
· Does a taxpayer have income if he finds a solid gold necklace in a parking lot and keeps it?
· Yes – windfall 

· Does a child have income if for his birthday, his mother gives him stock that cost her $5,000 and now is worth $7,500?
· No – gift 

· Would taxpayers have income if the city of Los Angeles presented them with a new truck because LA Police mistakenly shot up their truck during a manhunt for a missing killer?
· Yes 

· What if the City of LA awards the taxpayers $100,000 for hospital bills and pain and suffering?
· No – excluded Section 104 – personal physical injury 

· Does a taxpayer have income if he borrows money from a bank to buy a business? Does it matter if the loan is recourse or nonrecourse?
· No 

· What if the loan is for $125,000 and the bank is willing to be repaid $110,000 in satisfaction of the loan?
· COD $15k income 

· What if Grandmother loans the taxpayer the money and then forgives the loan in her will?
· Gift 

· Does a taxpayer have income if she buys property for $75,000 from her savings and $200,000 borrowed on a recourse basis and some years later refinances for a $300,000 loan (using some of the funds from the refinancing to pay off the earlier loan)?
· No – borrowing against appreciation does not = realization event 

· Does a taxpayer have income if he buys land for $20,000 from savings and a nonrecourse loan of $100,000 and then sells the land, still subject to the $100,000 debt, and gets $25,000 in cash?
· $5k income 
Meals and Lodging [§ 119] 
· Food and lodging that meet certain specific conditions are now excluded from income under section 119, rather than under general case law 

Requirements in statute for the value of meals to be excluded from income:

· Employer-employee relationship

· Meals are furnished on employer’s premises 

· Meals are furnished for convenience of employer 

Requirements in statute for the value of lodging to be excluded from income:

· Employer-employee relationship

· Furnished for convenience of employer 

· On business premises of the employer 
· Required to accept lodging as a condition of his employment  

*Under section 119, State troopers “business premises” is everywhere in the state 

*A housekeeper might be able to exclude all renumeration 
Benaglia v. Commissioner
· Can exclude lodgings and meals from income 

· Managed two hotels, but didn’t need to be at the other one 

· He negotiated it 

· He would leave for months at a time 
· Codified by §119 

Section 119

 

1.  Food and lodging satisfying the requirements of section 119 are excluded from income even though they clearly are an economic benefit for recipients.  

  

2.   Under the statute, it does not matter whether the food/lodging is also intended as compensation if it is for the convenience of the employer.  That is, there must be a noncompensatory reason which is substantial.  The noncompensatory reason does not need to be the principal reason, a test we will see in other tax statutes. Thus, room and board can be excluded from income even if they are the sole remuneration for services rendered, such as a housekeeper.  

 

3.  Under the statute, lodging must be a condition of employment and meals must be furnished on the business premises.  It does not matter whether a charge is made for meals or whether the employee may accept or decline them.  

 

4.  The regulations specify some noncompensatory reasons for providing food and lodging.  These are safe harbors.  A taxpayer who does not fit into the situations listed in the regs can argue facts and circumstances, but can expect the IRS to give him or her a hard time.  Note especially the rules for meals:  the employee must be available for emergency call, there is a peak work load during meal times, there is a remote job site.  In general, meals are not excluded if before or after working hours, but note the special rules for restaurant workers.

 

5.  The statute, as amended, supercedes reg. sec. 1.119-1(a)(3)(i) . 

 

6.  If the tests are failed, the FMV of the items furnished is the measure of income, even if the taxpayer would prefer something less expensive, regardless of the cost to the employer, and no matter what is charged, although the regulations state that in the absence of evidence to the contrary, the value of the lodging may be deemed to be equal to the amount charged.

Section 119 Problems

 

Problems for Class Discussion
 

1. Mr. Anderson was a motel manager who lived in the motel until his family outgrew their quarters.  The motel had a high occupancy rate, and so instead of giving him more space in the motel, the owner purchased a house in a tract two short blocks from the motel and required him to live there.

a. Not excluded because not on business premises 
 

2. When Mr. Dole was hired as assistant superintendent of Packard Mills, he was told he would be on call 24 hours a day and that he would have to live in a company-owned house approximately one mile from the mill so that he would be readily available for emergencies and conferences.  Other supervisory personnel were also required to live in company houses at the same location.  The company houses were nearer the mill than any other available housing, and Packard’s supervisory personnel were frequently called upon outside regular hours.

a. Not excluded because not on business premises 
 

3. The president of Harvard College is required by the statutes of the university to live in Cambridge and occupies a university-owned home in Cambridge about a mile from Harvard Yard.

a. Need enough events to qualify as business premises 
 

4. A Veteran’s Administration doctor lives in a home on hospital grounds about a mile from the hospital itself, where he works.  A so-called housing allowance is deducted from his regular salary grade, and would be deducted as long as government housing was available, whether or not he occupied it.

a. Yes – on business premises 
 

5. Taxpayers, husband and wife, accept jobs as domestic cook and gardener for a wealthy couple who provide them a room in their house and meals in their kitchen.

a. Yes can exclude – meets all requirements 
Section 119 Class Discussion Problem

Mr. X was president of the Tokyo-based subsidiary of a U.S. oil corporation (“Company”).  Company had a policy of procuring housing for all American employees assigned outside the U.S.  Pursuant to this policy, Company for two tax years at issue provided Mr. X with a three-level house, built and owned by Company.  It was 3 miles from headquarters.  It consisted of a large living room, dining room, pantry and kitchen, three bedrooms, a den, two bathroom, two maid’s rooms, two garage areas, and a garden and veranda.  Company asserted that the effectiveness of a president of a company in Japan is influenced by the social standing and regard afforded him by the Japanese community and thus must live in prestigious surroundings.  Company thus required Mr. X to live in this house, as presidents of Company had done for the past 15 years.

The house was also designed so that it could accommodate the business activities of Mr. X.  The den was build for the conduct of business, and the kitchen and living room were designed for both business meetings and receptions.  Mr. X worked in the house in the evenings and on weekends and held small meetings there for mixed business and social purposes.  He regularly used the telephone for business purposes from his home after regular working hours, both for business emergencies and for communicating with person in the United States because of the time difference.  He also regularly discharged his business entertainment responsibilities in his residence, generally averaging about 35-40 occasions in a normal year.  For one of the tax years at issue, entertaining declined considerably because of the absence of his wife for 10 months, but resumed upon her return.  Company also provided Mr. X with two maids, only one of whom was needed for his family’s personal requirements.

Can the value of the housing provided to Mr. X by Company be excluded from his income under section 119?
· Enough business activities to make it business premises of the employer 

· Had to accept it for employment 

· Convenience of the employer 

· Social standing in Japan 

· House designed to accommodate business activities 
The Putative Tax on Tax Benefits

 

Assume that, on average, managers of luxury hotels receive $100,000 in stated salary and that the room and board that is excluded from income is worth $48,000 per year.  For purposes of this example, assume the income tax on taxable income is 30%.

 

Of the taxable $100,000, the managers have $70,000 after tax, since they must pay $30,000 in tax.  Of the $48,000 worth of room and board, they have $48,000 both before and after tax.  Thus, after tax, they have compensation equal to $118,000 in value.  It is important to think about what taxpayers will have after-tax.  That is the money they are free to use.

 

Someone who is taxed on all compensation at 30% would have to earn $168,571 before tax in order to have $118,000 after tax.

 

X - .3X  = 118,000

.7X  = 118,000

X  = 118,000/.7

X  = 168,571

 

Thus, this stated salary of $100,000 with a large tax-free benefit is equal to a fully taxed salary of $168,571

 

Another way to look at this is that the $48,000 of tax-free benefits saves hotel managers $14,400 in taxes (the amount excluded from income multiplied by the tax rate).  If they had to include the value of room and board in taxable income, their income would be $148,000 and they would owe $44,400 in taxes instead of $30,000.

 

For those people who like living and eating in hotels, this is a very good deal.  Thus, more and more people apply for these jobs.  As a result of this large supply of applicants, hotels are able to attract good people by offering a stated salary of $90,000, instead of $100,000, plus room and board.  This reduced salary is the putative tax on the tax benefit – the market, at least over time and if it is efficient, will operate to mute the advantage of the tax benefit by, in this case, allowing the employer to reduce the stated salary.  But the questions of time and efficiency of the market are very big ones.
Review Questions:

1. Does section 119 permit exclusion from income for meals provided on the business premises of the employer for a compensatory reason if the meals are also provided for a substantial noncompensatory business reason?
a. Yes, it is okay if part of the reason is compensatory as long as there is a substantial noncompensatory reason 
2. Can a bank employee exclude the value of meals provided to her in the bank cafeteria after her work ends at 1 pm if she must work between noon and 1 pm because of heavy business during the lunch hour? 
a. Yes - §1.119-1(b) 
3. May a waitress exclude the value of meals provided to her without charge by her employer on the employer’s premises on her days off?
a. No – needs to be immediately before or immediately after the working hours of the employee [§1.119-1(d)] 
Fringe Benefits [§ 132] - exclusions
· Working condition fringes are in-kind benefits to enable employees to do their jobs 

· Fringe benefits are in-kind compensation 

· What is the difference between them? 

Where do we find out to which categories non-discrimination rules apply? 

· §132(j)(i): Non-discrimination rules apply to:

· (a)(1): no-additional cost service

· (a)(2): qualified employee discount 

· (m)(2): retirement planning 

Where do we find definition of highly-compensated? 

· (J)(6)

For which benefits must the employee be in the same line of business? 

· (b)(1): no additional cost service 

For which offered customers? 

· (c)(1): qualified employee discount ( 20% of the price at which the services are being offered to customers 
What is the dollar amount for parking?
· (f)(1): $175/month 

Must it be on the business premises of the employer? 

· No 

Is it inflation adjusted? 

· Yes 

What does sec. 132(f)(4) mean? 

· If you take the cash instead, then you don’t have to include in income 

Fringe Benefits and Section 132

 

1.  We try to distinguish between working condition fringes, which are in-kind benefits furnished by the employer to enable the employee to perform the job properly, and in-kind compensation, which are fringe benefits that relieve employees of expense that they would otherwise bear out of after-tax income.

 

2.  Fringe benefits represent an enormous percentage of total compensation.  According to a 1992 study, they represented nearly 18% of total compensation, at a cost of some $629 billion.  Fringe benefits thus raise questions of revenue loss as well as equity and efficiency.  

   

3.  Section 132 establishes the following categories:  no-additional cost services, qualified employee discounts, working conditions fringes, and de minimis fringes, qualified transportation fringes, qualified moving expenses, and retirement planning.  Note well the nondiscrimination rules, the rules regarding lines of business, and the rules specifying who is treated as an employee 132(h).  Note how qualified discounts are calculated both for property and for services.  
Review Questions:

1. Would a working condition fringe be deductible or excludable if Congress had not passed section 132?
a. Working condition would have been deductible/excludable 

2. Is a sole proprietor entitled to exclude fringe benefits under section 132?
a. No 

3. Can an employee exclude the value of qualified parking from income if only highly compensated employees are entitled to the qualified parking?
a. Yes, nondiscriminatory rules don’t apply 

b. Parking can be discriminated and still excluded from income 

4. If an executive makes a week-end business trip across the country on the company jet, can he exclude the value of his spouse’s flight if, for personal reasons, the spouse accompanies him? 
a. No 
5. If a company offers a discount on services provided by the company of 15% to non-highly compensated workers and a discount of 20% to highly compensated workers, what must the highly compensated workers include in income?  See Reg. sec. 1.132-8.
a. Report all as income or the 5% difference 
6. Adele works for a company that services commercial jets for a number of airlines.  If one of the airlines offers her free air transportation if a flight is not full, can she exclude the value from income?
a. No, not same line of business 
7. Joe works for a company that owns both a chain of florists and a chain of dry cleaners.  He is a non-highly compensated employee of one of the florist shops.  Can he exclude from income a 20% discount on the cost of dry cleaning the company gives all its employees, regardless of whether they work in the florist shops or the dry cleaners?
a. No, not same line of business 
Imputed Income

· Nonmarket use of property to one’s self or one’s family, noncash increase in wealth, non-market transaction

· Examples:

· Buying house vs buying bonds when inherit $100,000 

· My doing plumbing in the house when pre-tax I could do better spending that time working as a lawyer 

· Most important example is use of home 
· Compare renting house to others and renting house to self 

· If I rent my house to someone else, I have to include the rental payments in income, (although I also am allowed to deduct the expenses of producing that income).  But if I “rent” my house to myself by living in it, I do not take the rental value into income, (although, with the exception of qualified residence interest, neither can I deduct expenses.)  This treatment of the imputed income from home ownership creates problems of horizontal equity.
· Imputed income from services: housekeeping and child care 
Imputed Income – In-class Problem

An insurance agent purchased a life insurance policy on his own life from one of the companies he represented as an independent contractor.  He deducted the commission to which he was entitled for sale of a life insurance policy when he remitted the premium.

Can he exclude the amount of the commission as imputed income?
· His argument: imputed income because doing it for himself 

· Lost because he entered a market transaction 

Review Questions:

1. Do you think members of a baby-sitting co-op have income?
a. Depends on whether they have entered a market transaction 

i. Keeping hours argument for entering market transaction

ii. Goodness of heart for family/friends = not entering market transaction 

2. If Congress did decide to tax the imputed value of owner-occupied housing, how might it be done?
a. FMV of rental – not easy practically; ask how much they would rent and would need to trust them 

b. Limit mortgage interest deduction 

3. If we don’t tax the imputed income of those who provide child care for themselves, how else might we restore horizontal equity for those who must hire people to perform child care?
a. Credit/deduction 

Windfalls and Gifts

· Windfalls are included in income 

· Cesarini involved cash discovered in a piano, which is included in income 

· What is a windfall? 

· Buy piano at auction for $50 and turns out to be worth $50k – not windfall, not included in income (because you are buying a piano) 
· Find a diamond ring inside the piano – windfall, so include in income (because you are buying a piano and not a diamond ring)
· One key of the piano turns out to be pure gold 

· Two options: 

· 1. If bought it with knowledge of gold key, then not windfall 

· 2. If bought it and discovered the gold key, then windfall 

· Find $10k in cash on street – windfall, so include in income 
· Gifts are not income under section 102 (gifts are never income for the donee) 
· We make a policy choice by taxing donor rather than taxing the donee or taxing both the donor and the donee 

· If not a gift, then full FMV of property is included in income 

· Upon disposition, gain or loss since acquisition taken into account 

· If employer gives employee stock without restriction or other property, then it is income 

· Duberstein’s subjective test of donor’s “detached and disinterested generosity” remains the law 

· Section 102(c) states that gifts from employers to employees are to be included in income 
The Notion of Gift

 

1.  Duberstein remains the key case defining gift for purposes of the income tax.  The standard of “detached and disinterested generosity” is a surprisingly subjective one.  It makes the tax consequences for the donee depend on the state of mind of the donor.

 

2.  The stakes in the area of employee/employer “gifts” seen in such cases as Stanton were changed by enactment of section 102(c), which provides that amounts transferred by or for an employer to, or for the benefit of, an employee are to be included in income.  

 

Although the language of the statute is absolute, the legislative history indicates that the provision is not intended to go so far as to require employees who invites their employers to their weddings to include the value of any wedding gifts in income.

 

3.  The stakes in the area of business “gifts” seen in such cases as Duberstein were changed by enactment of section 274(b), which denies a deduction for gifts made directly or indirectly to any individual to the extent that such expense exceeds $25.00.  

  

4.  Harris highlights the connection between the treatment of gifts and our notions of family and thus the connection between social and tax policy.

 

5.  Although - as Harris shows - whether the donor treats an item as a gift may help show the donor’s state of mind under Duberstein and thus affect income tax consequences for the donee, it is not because a donee excludes a gift from income that a donor owes gift tax.  Section 102 specifies that a donee does not owe income tax on receipt of a gift.

Policy Choices for Income Taxation of Gift of Cash 
1. CURRENT RULE

            Donee recognizes no income and donor receives no deduction (i.e. tax donor). 

Pro: • Ignores intra-family transfers
• Increased revenue for fisc because donors generally in higher tax bracket.
• Reflects psychic value of giving.

 

Con: • Allows donee to go untaxed on increments in wealth.

 
Gift Problem

Mother transferred to son checks and securities totaling over $122,000. She did so after a business associate told the mother that her son had threatened to drive the family business into bankruptcy and to report his mother to the IRS for alleged tax violations.

Can the son exclude the $122,000 from income as a gift?
· No, not disinterested and detached 
PROBLEM

Eight hours a day, five days a week, Belinda Beggar stands on a downtown corner seeking money from passers-by.  On Mondays and Wednesdays and Fridays, she meekly asks those who go by her if they could please spare some cash to help her.  If they do not respond, she says nothing more.  On Tuesdays and Thursdays, she asks for money more aggressively.  If people do not respond, she asks them again and will follow them for half a block or so renewing her request, each time more loudly.

 

Are any of the funds she receives income to her?

 

1. MWF = gifts (detached and disinterested) and TTh = income (paying to leave them alone) 
2. M – F = all gifts 

3. M – F = all income 

a. Paying out of fear 

b. If you change the facts to a big/strong beggar 
Nondeductible Gift v. Deductible Compensation 

Consequences for Employer and Employee

 

The true cost of an expenditure to an employer is its cost after taking taxes into account, the so-called “after-tax cost” and compensation is ordinarily a deductible expense for an employer.

 

Assume, then, that an employer in the 40% tax bracket pays an employee $200 as compensation.  The before-tax expenditure of $200 overstates the true cost if the employer can deduct this amount as a business expense and save $80 in taxes.  In that event, the true cost is the $200 before-tax expenditure minus the $80 tax savings, or $120 net.

 

If, after Duberstein and before enactment of §§ 102 (c) and 274 (b), the payment was characterized as a gift rather than as taxable salary, the deduction and thus the tax savings were likely to be lost.  The employer therefore probably would reduce the payment to the employee to $120 in order to maintain the same after-tax cost.  That is, the employer is indifferent between a deductible expense of $200 and a non-deductible expense of $120.

 

The employee, however, may not be indifferent between additional compensation of $200 and a gift of $120.  Assume, as was likely to be the case before the 1986 Tax Act, that the employee’s tax rate is higher than the employer’s.  Say that the employee’s marginal tax rate is 70%.  If the employee receives additional taxable compensation of $200, the employee must pay tax of $140 on that amount and is left after-tax with only $60.  If, however, the employee receives a gift of $120, the employee owes no tax on that amount and is left after-tax with the full $120.

 

If the employee’s tax rate is the same or less than the employer’s, however, there is no advantage in trying to characterize payments as gifts instead of compensation.  When the employee’s tax rate is 40% (i.e., the same as the employer’s), taxable compensation of $200 will leave the employee with $120 after-tax.  A non-taxable gift of $120 will also leave the employee with $120 after-tax.

Harris Problems

1. Sally is a successful surgeon with a high income. She has lived for many years with Maria, in a warm, loving, mutually committed relationship.  Maria has no job and is supported by Sally. Sally comes to the realization that Maria feels financially insecure and is suffering anxiety about it. Because Sally loves Maria, she is upset about Maria’s anxiety and determined to do what she can to eliminate its foundation. While Sally’s income is high, she has not accumulated much wealth (so she can’t transfer substantial assets to Maria either directly or in trust). Sally wants to sign some sort of document that will provide assurance to Maria that no matter what happens, she, Sally, will provide Maria with enough money so that she, Maria, can live comfortably. Assume that a promise to make a gift is not legally enforceable. Is there any way in which Sally can bind herself without creating income tax problems for Maria? By the way, should Maria have been paying income taxes in the past for the value of the support she received? If not, should Sally have been paying gift tax? 

· Assumed they would get married – influence of our notions of family 
2. Wanda is a wealthy woman, She hires Sam as her personal secretary and pays him $25,000 per year. She is single and often needs a man to escort her to social and cultural events. She hires George and pays him $500 an evening. She also hires a prostitute, Paul, on occasion and pays him $500 on each occasion when they have sex. What are the tax consequences?
· All income 
3. Juan is a successful lawyer. For several years he and Paul have been lovers and have, off and on, lived together. Their relationship has been intense, intimate, often stormy, and intermittent. Juan is obsessed with Paul; the obsession is largely sexually focused. Paul has no job. When he and Juan are together, Juan gives him substantial sums of money, which Paul generally spends as quickly as he received it. When Paul and Juan break up, Paul moves out of Juan’s house and often winds up living with some other man, who also provides him with money. What are the tax consequences of the transfers of money from Juan to Paul? Might your reaction be different if “Paul” were changed to “Pauline”?
· Under Harris, not taxable 
Review Questions:

1. Grandpa lent you $25,000 to go to law school.  When you graduate, he tells you that you don’t need to pay either or accrued interest back to him.  Did you receive a gift?
a. Yes – detached and disinterested generosity  
2. Sean is a struggling artist.  Cheryl gives him $1,000 because she admires his work.  Did he receive a gift?
a. Can go both ways 
b. If detached and disinterested generosity, then gift 

c. If she has intentions for getting something back, then not a gift 

3. What if, in appreciation, Sean then gives Cheryl a painting of his?
a. Would need to prove it is not in return for the $1000 

Gifts: Realization and Basis 

· A realization event is a transaction that represents a sufficient change for us to impose income tax. It usually but alas not always involves a sale, exchange or other disposition 
· We do not calculate gain or loss at the time the gift is made 
· Disposing of a gift is a realization event for the donee 
· Basis matters for calculating gain or loss upon sales, exchange, disposition or other realization event 
· AR – AB = GR (LR) 
· AR: amount realized is everything seller receives in the sale
· AB: adjusted basis is what is recovered tax free, often the seller’s investment. That is, adjusted basis is not income 
· Inter vivos gifts involve both a general basis rule and special basis rule
· In most cases under sec. 1015, the basis to the donee of an inter vivos gift is the donor’s basis (carryover or transferred basis) 
· For gifts from a decedent under sec. 1014, the donee takes fair market value basis 
· GR/LR: gain realized or loss realized is amount on which tax will be paid 
· Because of carryover basis, we tax the donee of an inter vivos gift on any appreciation that accrued while the donor held the gift as seen in Taft v. Bowers 
· Example:
· A purchases stock for $1K and A gives stock to B when it is worth $5K. B sells the stock later for $10K. B has taxable gain of $9K. 
Gifts and Basis

 

1.  In Taft v. Bowers, A purchased stock for $1,000.  When he gave it to B, his daughter, it was worth $2,000.   B later sold the stock when it was worth $5,000.  B argues that she should be taxed on only $3,000, the difference between the value of the stock at the time of the gift and its value at the time of sale.  The court does not accept this argument.  It says that the statutory rule of section 1015 is constitutional.  Under section 1015(a), in most cases, the basis to the donee of an inter vivos gift is that of the donor’s (“carryover basis”).

  

2.  This rule is in fact pro-taxpayer, because in general, gifts are made from those in higher tax brackets to those in a lower tax bracket.

 

3.  The basis rule under section 1014 for gifts received from a decedent is even more generous.  The donee takes a fair market value basis, which in most cases means a stepped-up basis.  Thus, if A had bequeathed the stock to B when its value was $2,000, B’s basis in the stock would have been $2,000.  Section 1014 represent an enormous hole in the tax code. 
Review Questions: 

1. For all of the following, what, if anything, is gain realized? 

· Father buys a painting for $50K.  He gives it to daughter when it is worth $150K. 

· Nothing – gift 

· Joe buys land for $75K in cash.  He sells it for $175K in cash.
· $100k realized 

· Sue buys a building for $200K.  She properly takes depreciation deductions totaling $25K.  These deductions make her AB $175.  She sells the building for $300K in cash. 
· $125k realized 

· Sam buys land for $100K in cash.  He makes improvements to the land (roads, lighting, sewers) costing $50K.  As a result, his AB is $150K.  He sells the improved land for $225K in cash.
· $75k realized 
· Jasmine buys a gold and diamond necklace for $50K.  She exchanges it for stock with a FMV of $75K.
· $25k realized 
· Employer paid a consultant with $85K worth of stock.  Consultant sells the stock for $100K in cash. 
· $15k realized 
· S buys three shares of the same stock for $3,000.  S sell one share of the stock for $1,500.
· $500 realized 
· J buys two plots of land for a total of $99,000.  One is worth twice as much as the other at the time of purchase.  J sells the less expensive plot for $45,000.
· 2/3 x 99,000 = 66,000 basis in more expensive property 

· 33,000 basis in less expensive property ( 45,000 – 33,000 = 12,000 realized 
Annuities and Recovery of Basis
· Basis is what you get to recover tax-free; you have gain only on amounts received above basis and loss only on amounts received less than basis
· Examples:

· Buy stock for $100 and sell for $500

· Basis =100; AR = 500; gain = 400 

· Buy two shares of stock for $100 and sell one share for $250

· Each share gets $50 basis; AR= 250; GR= 200

· Buy two lots, one with great view and one without view, for $100,000 total and sell the lot with the great view for $100,000

· I need to know the relative fair market value of the lots at the time of purchase.
· Reg. 161-6: “When a part of a larger property is sold, the cost or other basis of the entire property shall be equitably apportioned among the several parts, and the gain realized or loss sustained on the part of the entire property sold is the difference between the selling price and the cost or other basis allocated to such part.”
· Inaja allows the unusual and very pro-taxpayer rule of recovering all basis first. By recovering all basis first, taxpayers get to postpone payment of tax 

· Examples: 

· How much of each payment is deemed return of basis for C, who paid $50,000 on his 75th birthday for an annuity that pays $5000 a year for life? 

· 50,000/(5,000 x 12.5) 62,500 = .8 

· .8 x 5000 = 4000 excluded and 1000 taxed 

· B purchases a deferred annuity for which she pays $1000 a year over a 30-year period, making her first payment in 1970. The policy matures when B is age 65, at which point it begins paying $5,000 a year. How much of each payment will be excluded as recovery of basis? (Use unisex table). 
· 30,000/(5000 x 20) 100,000 = .3

· .3 x 5000 = 1500 excluded and 3500 taxed 

· Life Insurance Example 
· If I pay a single premium for insurance to pay $1000 on my death, expected in 20 years, and the insurance company expects to earn 10% and we ignore service charge. 

· I will pay $149 (present value of $1000 in 20 years at 10%). 

· If I live exactly 20 years, the difference between what I paid and what I will get will all represent earnings 

· And I got the benefit of life insurance protection all those years. 
PROBLEMS ON ANNUITIES
 

Read section 72 (a) and (b) and reg. sec. 1.72-9 and work out the following problems.

 

a. How much of each payment is excluded from income under section 72 if C who turned 75 in 1988, paid $50,000 on his 75th birthday for an annuity that pays $5,000 a year for life?  

b. B purchases a deferred annuity for which he pays $1,000 a year over a 30-year period, making her first payment in 1970.  The policy matures in 2000, when B is age 65, at which point it begins paying $5,000 a year for B’s life.  How much of each $5,000 payment would be excluded under section 72?  (B elects to treat the entire investment in the contract as a post-June 1986 investment.)

ANSWERS TO ANNUITY PROBLEMS
 

 

Problem (a):
 

If the investment is made after 1986, the expected return multiple for both males and females is 12.5, and the exclusion ratio will be:

 

$50,000  (investment)       


= .80

$5,000  (annual return)  x 12.5  (multiple)       

 

Hence, each year exclude .8 x $5,000 = $4,000

 

 

Problem (b):
 

1. At age 65, the expected return multiple is 20.  Hence, the exclusion ratio is :

 

$30,000  (investment)      



 = .30

$5,000  (annual return)  x 20  (multiple)          
 

Hence, each year exclude .3 x $5,000 = $1,500.

Additional Annuity Problems

1. In the current year, T purchases a single life annuity for $48,000.  Under the contract, T is to receive $3,000 per year for life.  T has a 24-year life expectancy.  How is T taxed on the $3,000 received in the first year?
a. 48,000/72,000 (24 years x 3,000) = 2/3 
b. 2/3 x 3,000 ( $2,000 capital excluded from income and $1,000 taxable income 
2. Assume the facts in #1.  If T is still alive and receives $3,000 in the thirtieth year of the annuity payment, how is he taxed.
a. Taxed on all $3,000
3. Assume the facts in #1.  If T dies after receiving nine years of payments, what are the tax consequences to T or T’s estate?
a. Estate able to deduct the difference between the aggregate amount excluded from income under §72(b) and the cost of the contract; able to deduct her unrecovered basis 
4. To what extent are T and T’s spouse taxable on the $3,000 received in the current year if at a cost of $76,500 they purchase a joint and survivorship annuity to pay $3,000 per year as long as either lives and they have a joint life expectancy of 34 years?
a. 76,500/102,000 (34 years x 3,000) = .75

b. .75 x 3,000 ( $2,250 capital excluded from income and $750 taxable income
Annuities and Recovery of Basis
 

1.  Annuities are usually retirement contracts, purchased from an insurance company, that call for periodic cash payments beginning at a certain date and continuing until death.
 

2.  Under current law, to calculate how one schedules recovery of basis, you take each payment and multiply it by the following fraction:  investment in the contract/ expected return based on life expectancy.  The denominator of the fraction is the product of the annual return and the return multiple, how many times you expect to get an annual payment (in other words, the life expectancy), under the tables in reg. sec. 1.72-9. (Judge the expected return at the time payments begin, not when the investment is made).
 

3.  Under current law, if I win or lose the bet with the actuarial tables, by living longer or shorter than expected, I take the gain or loss on an individual basis.  If I die before I recovery the full investment, my estate gets the loss.  If I live very long and thus recover my investment, I henceforth pay tax on the full amount of payment received.
Section 104(a)(2)
· Recoveries for loss of business property are taxed to the extent insurance proceeds exceed basis. Amounts for loss of earnings are taxed. 
· Section 104 excludes from income recoveries for physical injury, but not punitive damages 
· Employer provided medical insurance and recoveries under it are excluded from income under sections 105 and 106 
· Individuals who must pay for their own medical care and who itemize deductions can deduct medical expenses to the extent they exceed 10% of AGI 
Problems on Personal Injury

1. Joan sued and recovered against the owner of a truck that struck her car and injured her.  The jury returned a special verdict for $53,000, categorized as follows:

a. Medical Expenses    $12,000 – yes excluded 
b. Pain and suffering      16,000 – yes excluded 
c. Loss of earnings       20,000 – yes excluded 
d. Attorney’s fees         5,000 – yes excluded 
What payments constitute gross income?  What is the result if Joan had deducted $7,000 of medical expenses last year? – only gets to exclude $5,000 (can’t double dip) 
2. Ernest sued Richard for slander.  Ernest won $5,000 for emotional distress.  How much, if any of this recovery must Ernest include in his gross income? All – not a physical personal injury 
a. Now assume Richard had slandered Ernest because Ernest broke his leg at Richard’s place of business.  Ernest’s subsequent recovery of $5,000 was 25 percent compensation for his injury and 75 percent for the slanderous comment.  How much of the $5,000 does Ernest include in his gross income? - $3750 is included 
b. Now assume that Ernest was also awarded $2,000 in punitive damages. How much of the punitive damage award would Ernest include in his gross income?  - all $2000 included; punitive damages never excluded from income
3. Florrie’s daughter broke her arm during the year.  Her medical expenses totaled $1,765 and were promptly reimbursed through a self-insured health plan provided by her employer.  Does Florrie have gross income? – no 
Operation of Section 213
 

Adelaide has salary and AGI (adjusted gross income, which is roughly equivalent to economic income) of $28,500.  Her employer does not pay for health insurance for its employees.  Adelaide herself thus spends $3,500 for health insurance.  She has no other medical costs.
 

Bernadette has salary and AGI of $25,000.  Her employer provides health insurance for her, at a cost of $3,500.  She has no other medical costs.
 

It would seem that Adelaide and Bernadette are similarly situated.  Both have $3,500 of health insurance and $25,000 to spend on other items.
 

They are, however, taxed differently.  Under section 213, Adelaide can deduct as a medical expense the cost of health insurance for which she pays personally only to the extent that her medical costs exceed 7.5% of her AGI.  7.5% of her AGI is $2,137.50.  In calculating her taxable income, she can deduct only $1,362.50, the extent to which her medical expenses of $3,500 exceed 7.5% of AGI. Her taxable income is thus $27,137.50 ($28,500 - $1,362.50) and she will need to use some of her after-tax income to buy her health insurance.
 

Under section 106, Bernadette can exclude from income amounts paid by her employer for health insurance.  Her taxable income is $25,000.
Personal Injury

1.  Imagine that you bought a machine for $100 and on the way to be delivered to you, it is lost or destroyed.  It was insured and the insurance company pays you $100.  Are you any better off or are you made whole?  Do you have an income?  For tax purposes, you have $100 amount realized and $100 adjusted basis, so there is no gain.

2.  The taxation of business or property settlements thus is pretty straightforward.  Compensation for damages to property is generally taxed only if the amount of compensation exceeds the taxpayer's basis in the property. Compensation for lost profits is subject to tax.

3.  Taxation of personal injury awards, however, is complicated both by the statutory law and the lack of basis in human capital.

4.  Imagine that I lost part of my finger in an accident caused by someone else and, in settlement, I receive $100.  


We might say that I should not be taxed because I had no gain, since I was made whole and not better off and, since I enjoyed the benefit of my finger tax-free, any recovery should be tax-free.


We might say that I should be taxed, because I have no basis in my finger, and we tax other recoveries to the extent they exceed basis, even in these recoveries are somewhat like the personal injury.

We tax recoveries for defamation of business reputation, even though these recoveries are intended to make whole, to return to status quo ante.  We tax wages and salaries without a deduction for exhaustion of physical prowess or mental agility during working life.

5.  Section 104(a)(2) excludes from income "the amount of any damages (other than punitive damages) received (whether by suit or agreement and whether as lump sums or as periodic payments) on account of personal physical injuries or physical sickness.”

Loans/Forgiveness of Debt 

· Under the income tax, loans are not income – the fact that a loan has generated and increased cash does not produce income 

· A loan is not income because the cash received is balanced by the obligation to repay in full. Until proved otherwise, we assume the loan will be repayed in full. 

· Borrowers are personally liable for recourse loans; the bank can go after any of the borrowers assets to collect what is owed on a recourse loan 

· For a nonrecourse loan, the lender can look only to the property pledged as security for the loan 

· True forgiveness of debt is income because the loan is not paid back in full 

· Example: if a lender agrees to accept $9000 in full satisfaction of a $10000 loan, the borrower has $1000 of income under section 61(a)(12) [COD] 

· The rule of Kirby Lumber is that COD income is a tax adjustment made when the assumption that a loan will be paid back in full proves false 
Introduction to the Tax Treatment of Loans

 

1.  Example:  If you borrow $20,000 to pay law school tuition, you do not have income because the receipt of the asset (cash) is balanced by the obligation to repay $20,000.  When you repay the $20,000 loan, you do not have a loss because the decrease in assets is balanced by a decrease in your loan obligations.

  

2.  The rationale described above requires exclusion of loan proceeds from income regardless of the security for the loan, the probable source of repayment, or the use of the funds.  Remember to separate the loan transaction from the use of funds.  Usually, the loan transaction is a nonevent for tax purposes and the tax consequences will NOT depend on the use of the borrowed funds.  
  

Forgiveness of Debt

    

1.  Forgiveness of debt (frequently called “discharge of debt,” “cancellation of debt” or “COD”) does not always occur in connection with bankruptcy or even serious financial distress.

 

2.  Consider the key case of Kirby Lumber.  Kirby Lumber was able to purchase its own bonds back at a discount.  Why?  Probably because there is an inverse relationship between the value of bonds and the market rate of interest.  

 

3.  Example:  If a company issues a 30-year bond with a face amount of $1000 paying 10%, the first purchasers of the bond lend the company $1000.  The company pays the holder of the bond $100 each year and pays back $1000 at the end of 30 years.  If interest rates rise to 12%, however, lenders would expect to lend only $839 to get $100 a year.  Thus, the value of the bond will fall from $1000 to close to $839, depending on how many years are remaining until the principal is repaid.

 

4.  Another way to think about the rule: If a bank makes a ten year, $50,000 loan at 8% a year, it receives $4,000 a year in interest. If interest rates rise to 10% before the loan is due and the bank gets back only $45,000 of the $50,000 loan at that time, it can lend out that $45,000 at the new interest rate and get $4,500 per year in interest.

 

Now imagine that the bank does not cancel the indebtedness.  Instead, the borrower takes $45,000 of the borrowed $50,000 and relends it out at 10%.  The borrower would receive $4,500 in interest each year and pay out $4,000 in interest.  It would have income of $500 a year.  Over the ten year term of the loan, this income amounts to $5,000.  Cancellation of indebtedness presents this income in one lump sum.     

 

Note that we calculate the amount of COD income according to the difference between the dollar amount of principal lent and principal repaid, even though these different amounts may be economic equivalents (a bond issued at $1000 when interest rates are 10% is economically almost equivalent to a bond with a face amount of $839 when interest rates are 12%, again, depending on the number of years to repayment of principal).  We treat the principal owed as a static amount.  We do not adjust for the fair market value of the bond, or the value of U.S. dollars, or for the effect of inflation.

 

5.  Although the Kirby Lumber case does not state the rule as clearly as one would like, it has come to stand for the proposition that forgiveness of indebtedness is imposing a delayed tax on what was received tax-free at the time of the original borrowing.  COD income is a tax adjustment made when the assumption you would pay back the loan in full proves erroneous.  THIS RULE APPLIES REGARDLESS OF THE USE TO WHICH THE BORROWED FUNDS ARE PUT.

 

DO NOT read Kirby Lumber as standing for the proposition that any increase in net worth is income, whether produced by receipt of any asset or discharge of debt.  Consider Kirby Lumber as only a debt discharge case.

 

Kirby Lumber’s treatment of Bowers v. Kerbaugh-Empire Co. is particularly misleading, because Kirby Lumber distinguished rather than rejected Kerbaugh-Empire.  In Kerbaugh-Empire, a loan was repayable in marks or in dollars equivalents.  At the time of repayment, the value of marks had fallen, so the loan was repaid in fewer dollars.  The Kerbaugh-Empire case, however, says there is no income because the overall transaction was a loss - the money was borrowed on behalf of a subsidiary and the subsidiary showed an overall loss. Kerbaugh-Empire should not be treated as good law. The treatment of debt discharge income does not depend on the success or failure of use to which the borrowed funds were put.

 

6.  Sometimes something that looks on the surface as if it were forgiveness of debt is seen not to be so when analyzed properly.  For example, if I owe someone $25,000 and my lender agrees to accept services from me worth $25,000, there is not forgiveness of debt.  I do have $25,000 of ordinary income.  Or, as another example, if I owe the money to my grandparents, and on my graduation from law school, they tell me they “forgive” the debt, I have a gift, and not COD income.

  

7.  Note that if someone else assumes my recourse debt (or acquires property subject to nonrecourse debt from me), I have income because this relief of debt (but note, this assumption or taking property subject to debt by a buyer is NOT cancellation of debt by the lender) produces a benefit for me.  I am enriched by no longer being subject to the liability.  This treatment of assumption of debt is an important lesson taught by the Diedrich case and crucial to understanding the Crane and Tufts cases.  We act AS IF cold, hard cash has been transferred to me and I use that cash to repay the outstanding debt.   In such a case, there will be no tax consequences to the repayment of debt, since I will have been deemed to repay it in full, but depending on the facts, there may well be tax consequences to my being treated as if I had received the cash.
Review Questions:

1. I owe you $50 for some computer equipment; you owe me $30 for some DVDs I bought for you.
a. Might we settle these debts by my giving you $20?
i. Yes, but you shouldn’t for tax purposes 
b. Why?

c. Would you or I have any COD? – No 
d. Would any tax reporting considerations caution against this approach?  
i. Yes 

2. I owe you $20,000 for computer work you did for my law firm. You owe me $5,000 for some legal work I did for your computer company.

a. Why might I consider writing you a check for $15,000?

b. Do any tax reporting considerations caution against this approach?
i. Want to write checks for what is owed so it is characterized correctly (run the risk) 
3. I owe you $4,000 for money you lent me.  You suggest I work for you for 20 hours at my standard rate of $200.
a. Do I have an COD income? – No 
b. What kind of income do I have? – Ordinary 
4. I owe the bank $4,000.  Because of a change in interest rates, the bank is willing to settle my debt for $3,700.
a. Do I have COD income? Yes 
b. How much?  $300 
The Diedrich Rule 

· As noted, a bargain sale to charity uses the rigorous part sale/part gift rule.
· Example:

· Buy painting for $60k

· Grows in value to $180k 

· Sell it to museum for $60k 

· Taxable gain = $40k 

· 60k/180k = 1/3 

· 1/3 x 60 = 20 = basis 

· 60k – 20k = 40k GR 

· 120k = charitable gift which generates a charitable contribution deduction 

· Reg sec. 1.1015-4 [use this for part sale/part gift to an individual] 

· Transferee’s basis for part sale/part gift is the greater of 

· Amount paid by transferee for property or 

· The transferor’s adjusted basis for property at the time of transfer 

· Example 1:

· Property with FMV of $50; G’s basis is $5 and G’s debt, which H will pay or assume is $1 

· H’s basis = $5 

· H pays or assumes the debt of $1 and has $1 amount realized in “sale” portion; $1 of G’s basis allocated to sale portion. (Thus, G will have no gain on the sale portion.) 

· G has $4 of basis left; H takes her $4 basis for gift portion

· H has total basis of $5 ($1 plus $4); same as G’s, which is greater than amount paid 

· Example 2:

· Property with FMV of $50; G’s basis is $5; G’s debt, which H will pay or assume is $4

· H’s basis = $5 
· H pays or assumes debt and has $4 basis in “sale” portion; $4 of G’s basis allocated to sale portion. (Thus G will have no gain on the sale portion)
· G has $1 basis left; H takes her $1 basis for gift portion 
· H has total basis of $5 ($4 plus $1), same as G’s basis, which is greater than what H paid 
· Example 3: 

· Property with FMV $50; G’s basis is $5; G’s debt, which H will pay or assume is $25. 

· H’s basis = $25 
· H pays or assumes debt and has $25 basis in “sale” portion; all of G’s basis allocated to sale portion. (G will have $20 gain on the sale portion) 
· No basis left to be allocated to gift portion 
· H has total basis of $25 ($25 plus $0), the amount he paid, which is greater than G’s basis. 
The Rule of Diedrich and its Alternatives
 

Assume Gertrude transfers property worth $50,000 to son Hamlet on the condition that Hamlet pay Gertrude’s debt of $10,000.  Gertrude’s basis in the property is $5,000.  Hamlet later sells the property for $50,000.  Thus, the property has appreciated $45,000. 

  

I. The Diedrich rule

 

What the Diedrich case permits -- in the special case in which, in one transaction, the same individual is both the donee and the purchaser -- that the donor be permitted to recover all of her basis before any income is realized.  That is, Diedrich adopts the Inaja rule rather than a pro rata allocation rule.  The transaction is still treated as part sale and part gift -- a sale for $10,000 worth of property and a gift of $40,000 worth of property, but a special basis recovery rule applies.

Thus, Gertrude’s amount realized is $10,000 on the sale portion, but she is permitted to allocate all of her $5,000 basis to the sale portion.  Her gain on the sale portion is the $5,000 ($10,000 minus $5,000).  Since she has allocated all of her basis to the $10,000 sales portion of the transaction, her basis for the remaining $40,000 gift portion is zero.  She does not get to recover her basis more than once!

Hamlet’s basis in the $10,000 sale portion is still $10,000, the amount he paid as a purchaser for that portion.  For the gift portion, he takes his mother’s basis.  His mother’s basis for the gift portion, however, is zero.  Thus, Hamlet’s basis for the entire property under the Diedrich rule is $10,000.  When he sells the property for $50,000, he realizes a $40,000 gain ($50,000 minus $10,000).

Thus, in this case, of the $45,000 in appreciation, Gertrude pays tax on $5,000 and Hamlet on $40,000.

Reg. § 1.1015-4 describes this special basis rule for a transfer that is part sale and part gift as the greater of (a) the amount paid by the transferee for the property, or (b) the transferor’s adjusted basis for the property at the time of transfer.
Part Sale/Part Gift Problems
 

One of Frank’s stock investments has done very well.  He bought the stock for $20,000, and it has now increased in value to $100,000.  This appreciation has put him in a giving mood.  However, he also has a debt of $40,000 that he must pay.

 

What would be the consequences of each of the following to Frank as donor in each of the following. (You can assume that no gift tax is due on either transfer).

1. Frank transfers the stock to his daughter Esmeralda on the condition that she pays his $40,000 debt.
a. AR – AB = GR/LR 

b. 40,000 – 20,000 = 20,000 GR – that is taxed 

1. Frank can recover all of his basis in the sale portion, so Esmeralda’s basis is $40,000

2. Diedrich rule: transferee takes either the transferor’s basis or what transferee paid – whichever is greater 
2. Frank transfers the stock to Loyola Law School on the condition that Loyola Law School pays his $40,000 debt.
a. 40,000/100,000 = 40% 

b. 20,000 (Frank’s basis) x .4 = 8,000 = Frank’s adjusted basis 

c. 40,000 – 8,000 = 32,000 GR that is taxed 

1. Frank sells Loyola 40% so they can pay his debt and then in a separate and unrelated transaction gives them the other 60% 
General and Special Basis Rules 

 

1. For gifts during life, the donee takes the donor’s basis.  While other cases of so-called “carry-over” or “exchanged” or “substituted” basis do occur, it is one of our special rules, not the general rule.  

  

2. In sales and other taxable transfers, what the transferee pays – that is, the transferee’s investment, represents fair market value and becomes the transferee’s original basis

 

The system generally assumes that the dollars of investment represent after-tax dollars (or dollars the system has decreed should not be taxed.)  Investors want to get “credit” for investments in cold, hard cash and to recover them tax-free, rather than being taxed on them again.

 

If I pay $35,000 to buy stock or a painting or a car, I want to and should have a $35,000 initial basis in that property.  This rule is a common sense rule, for once.

 

3. Thus, in taxable sale and most cases, the transferor’s basis is irrelevant to and independent of the transferee – it is simply a historical accident as far as the transferee is concerned.  It is of great concern to the transferor but not to the transferee.

 

If I buy a painting in a taxable sale at its fair market value of $35,000, I expect and will get a $35,000 basis – I don’t care whether the seller just inherited it and thus has a $35,000 basis and no gain on the sale or whether the seller received it as a gift many years ago, when it had a $1,000 basis and thus has $34,000 of gain. 

  

4.  Sometimes what I receive in a sale is not only cold hard cash or property but also includes assumption of my debt by the buyer.  My proceeds from sale in such a case will include the amount of debt of which I am relieved. We act AS IF cold, hard cash has been transferred to me and I use that cash to repay the outstanding debt.   In such a case, there will be no tax consequences to the repayment of debt, since I will have been deemed to repay it in full, but depending on the facts, there may well be tax consequences to my being treated as if I had received the cash.   The amount of my proceeds from sale will include the amount of debt of which I am relieved and thus affect the amount of my gain or loss.

Review Questions:

1. I buy 10 shares of stock of a particular company for $10,000.  I sell all of it several years later for $50,000.  What are my tax consequences? $40,000 GR 
a. I then give $50,000 in cash to a charity.  What are my tax consequences?
i. Charitable contribution deduction of $50,000 
b. Instead, I sell 4 shares of the stock for $20,000. What are my tax consequences?
i. Basis = 4,000 GR = 16,000 
c. I then give the other 6 shares to a charity.  What are my tax consequences?
d. Instead, I give all 10 shares to the charity for $10,000. What are my tax consequences?

2. Father gives daughter all 10 shares of the stock, which has a basis of $10,000 to him, on the condition that she pay a $15,000 debt of his.  What are the tax consequences to both?
a. 15,000 – 10,000 = 5,000 GR 

b. Daughter’s basis = 15,000 

c. What if the debt he requires her to pay is for $5,000?
i. GR 0 

ii. Daughter’s basis = 10,000 
Treatment of Debt 

Nonrecourse: AR includes the outstanding principal on the loan 
Recourse: AR includes only the FMV of the property foreclosed 
· For recourse debt, the difference between the outstanding principal on the loan and the FMV of the property is COD income (COD income is ordinary income) 
· Taxpayer recover cost by taking annual depreciation deductions. 
· These deductions reduce income each year and adjust basis 

· Depreciation deductions are an exception to the realization requirement 

· The IRC specifies how depreciation deductions are taken. That is the amount of deductions each year

· For real estate, only the building not the land can be depreciated 

· The cost is recovered equally each year over a number of years specified by the code 

· Assume a $300,000 purchase of real estate on rented land and a 30-year recovery period. 

· In Year 1, taxpayer takes a depreciation deduction of $10,000 that reduces that year’s income and also reduces basis to $290,000

· In Year 2, the taxpayer takes a depreciation deduction of $10,000 that reduces that year’s income and reduces basis to $280,000

· If taxpayer sold the building at the beginning of Year 3 for $300,000, taxpayer would have $20,000 gain 

· Assumption of recourse mortgage by the buyer or the buyer’s taking property subject to a nonrecourse mortgage is not cancellation of indebtedness for the seller ( we treat the transaction as if the purchaser had paid the seller cash and the seller paid off the loan in full 
· Borrowing against appreciation in a piece of property does not in itself either generate basis in that property or produce realization of income 

· Example: 

· I buy a piece of land for $100K. I used $20K of my savings and borrowed $80K nonrecourse. 

· The property appreciates to $230K and I borrow an additional $120K nonrecourse. I use the money to buy stocks and bonds. 

· My AB in the property remains $100K. 

· If I sell it for $50K in cash, and the buyer takes the property subject to both mortgages my AR is $250K. 

· Example: 
· I buy non-depreciable property for $10K

· I pay with $2K of my own funds and borrow $8K nonrecourse

· My basis is $10K

· My property appreciates in value to $40K and I borrow an additional $20K nonrecourse 

· I have no gain; my basis remains $10K 

· I sell the property for $22K and subject to both mortgages, when all principal remains outstanding 

· My AR is $50K, my AB is $10K, and my GR is $40K 

· There would be a different result if the bank had taken the building in satisfaction of a recourse loan. Foreclosure is an exception to the general rule treating recourse and nonrecourse debt in the same way 
Debt Questions
 

a. John purchases an apartment building in 1987 for $20,000 cash and a $300,000 nonrecourse note.  In each of 1987, 1988, and 1989, John properly takes $15,000 of depreciation on the building.  In 1989, rental markets collapse and the property declines in value to $275,000.  On January 1, 1990, John defaults on the note and the nonrecourse lender seizes the apartment building.  At the time of default, the amount due on the note was still $300,000.  What does John recognize in 1990?

a. AR (300,000) – AB (320,000 - 45,000 = 275,000) = GR (25,000) 
 

 

2. Larry used $25,000 of savings and $75,000 borrowed on a recourse basis to buy a piece of land.  Interest rates rise and the bank offers to accept $65,000 for full payment of the debt.  Larry agrees.  He sells the land for $125,000 and from the proceeds pays the bank $65,000.  What are Larry’s income tax consequences from these transactions?  Explain briefly the basis for your answer.

a. AR 125,000 – AB 100,000 = GR 25,000
b. COD: 75,000 – 65,000 = 10,000 (ordinary income) 
 

3. In Year I, Richard purchases a building on State Street for $300,000.  He buys the State Street Building using $60,000 of his own funds and $240,000 borrowed on a nonrecourse basis (“Loan 1”).  In Year 4, when the property has appreciated in value, Richard obtains another nonrecourse loan on the property.  The amount of the second loan on the State Street Building is $75,000 (“Loan 2”).  Richard buys a building on Main Street in Year 4.  To do so, he uses $50,000 of the proceeds of Loan 2 and $325,000 borrowed on a nonrecourse basis (“Loan 3”).  As of December 31 of Year 10, Richard has properly taken cost recovery deductions of $75,000 on the State Street Building and $62,500 of cost recovery deductions on the Main Street Building.  The bank forecloses on the Main Street Building on December 31 of Year 10.  (At the time of foreclosure, all the principal on all loans remains outstanding.)
What are the tax consequences to Richard of the foreclosure?
a. Main Street: AR 325,000 – AB (375,000 – 62,500) 312,500 = GR 12,500 
 

3. Cecil owns stock worth $80,000.  He paid $60,000 for the stock several years ago.  In order to purchase the stock, Cecil took out an unsecured, recourse loan from a bank.  The amount of principal outstanding on the loan is $20,000.  Cecil is willing to give David the stock if David pays the debt to the bank.  He also explains that, because of a change in interest rates, the bank will discharge the debt for a payment of $15,000.  David pays the bank the $15,000 and accepts the stock.  What are the tax consequences to Cecil of this transaction and what is David’s basis in the stock?

a. David’s Basis = $60,000 
b. Cecil = COD of $5,000 (ordinary income) 
More Debt Problems

1. Joe bought residential real estate as an investment in Year 1 for $500,000.  He paid $100,000 from savings and took out a recourse loan of $400,000 to buy the property.  In each of Years 1, 2, and 3, he took depreciation deductions of $15,000 (for a total of $45,000).  The value of the real estate has plummeted drastically; it is now worth only $350,000. What are the tax consequences to Joe if the bank forecloses when the principal on the loan remains $400,000?
a. AR 350,000 – AB 455,000 = LR 105,000 
b. COD 400,000 – 350,000 = 50k (ordinary income) 
2. Sam bought land as an investment in Year 1 for $300,000.  He paid $60,000 in cash and took out a nonrecourse loan of $240,000.  What are the tax consequences to him if he sells the property, still subject to a nonrecourse mortgage of $240,000, to Gail for $40,000 in cash? What is Gail’s basis in the property? What if the value of the property declines to $230,000 and the bank forecloses because Sam is no longer willing to make the interest payments on the loan?
a. AR 280,000 – 300,000 = LR 20K 

b. Gail’s basis is $280,000

c. AR 240,000 – 300,000 = LR 60K 
3. Nadine bought land as an investment for $400,000. She paid $80,000 from savings and took out a nonrecourse loan of $320,000.  The value of the land has now declined to $300,000 in value and the principal of $320,000 on the loan remains outstanding.  She wishes to get rid of the investment, but does not want the bank to foreclose.  Her uncle, who is very rich and to whom she is very close, offers to buy it from her for $320,000.  What are the tax consequences to her? What is his basis?  What are the tax consequences for her if instead Harold, who has learned that there is likely to be a large development near this land, which would make the land more valuable, pays her $3,000 and takes the land, subject to the debt.  What is his basis?
a. Is the 20K a gift? 

b. AR 300K – AB 400K = LR 100K 

c. If it’s not a gift then...

1. AR 320K – AB 400K = LR 80K 

d. AR 323K – AB 400K = LR 77K 
Recourse vs. Non-recourse Debt

 

1.  We assume a borrower will repay recourse debt, debt on which the borrower is personally liable, since there are severe consequences if the borrower does not do so.  Because of this offsetting liability, we do not include borrowed funds as income at the time of borrowing and do permit basis for borrowed funds.

 

Similarly, we treat sale of property subject to nonrecourse debt as if the purchaser had paid the seller cash and the seller had walked over to the bank and paid off the loan, with the bank then making a new loan to the purchaser. 

 

Example:  I sell property that is subject to $100 nonreourse debt for $300K in cash.  It is as if I got $400K in cash and then went to the bank and paid off the loan.  My amount realized is $400K and the relief of the debt is a non-event for tax purposes, since it was always assumed I would pay it back in full. The purchaser takes a $400K basis in the property. 

 

2.  When we ask whether the belief that debt will be repaid applies as well to non-recourse debt, the answer is less clear.

 

It is true that so long as owners of property subject to non-recourse debt want to retain the property, they must keep up payment and must treat the mortgage as if it were a personal obligation, even though they are not personally liable.

 

Similarly, the borrower must treat the non-recourse obligation in the same way as a personal obligation if the borrower wants to benefit from any appreciation of the property.

 

But with non-recourse liability, once the property is sold, given away or abandoned, the borrower doesn’t care what happens to the mortgage at maturity.  It seems odd to say relief of non-recourse liability is an economic benefit if it can be obtained only by giving up the mortgaged property.

 

3.  On the other hand, it is also true that a debt that is formally recourse may for all practical purposes be non-recourse, such as a real estate holding company whose only asset is mortgaged property or an individual who has no significant asset other than the mortgaged property.

 

4.  In Crane and Tufts, then, the Supreme Court had to choose among three options as to whether funds borrowed non-recourse are included in cost basis and amount realized.

  

a. For the most part, the Court chose: uniform treatment of both kinds of liability.

b. Although there are exceptions to this uniform treatment rule, such as bifurcating amount realized and COD for foreclosure of recourse debt
 

Key Points re Crane and Tufts
 

1.  If a taxpayer uses borrowed funds to purchase depreciable property, the borrowed funds will be treated the same way as cash; they will generate basis and this basis will be used for calculating depreciation deductions.

 

Depreciation deductions reduce current income.  That is, they are treated as a cost of earning income.  If I have rental income of $25,000 after deducting such out-of- pocket costs as insurance, property tax, repairs, etc., and am allowed $3,000 in depreciation deductions, my taxable income from the rental will be $22,000.

 

Depreciation deductions also reduce basis.

 

In general, we do not care whether the funds were borrowed recourse or nonrecourse.

  

2.  If taxpayers borrow against appreciation in a property, such borrowing neither generates taxable gain (it is not a realization event) nor gives rise to additional basis.

 

Taxpayers may borrow against appreciation in property 1 in order to purchase property 2.  Borrowing against property 1 does not generate basis for depreciation deductions, but the purchase of property 2 does so.

 

3.  The amount realized in a taxable sale of property includes the amount of debt of which the seller is relieved.

 

In a sale situation, it does not matter whether the debt is recourse or nonrecourse.

 

This rule applies even if the debt is greater than the property’s fair market value.

 

In such a case, case law is not clear as to what the buyer’s basis will be.

Under one line of cases, the buyer’s basis will be limited to the fair market value of the property.  In another line of cases, nonrecourse debt does not generate any basis at all.

 

In calculating amount realized, it does not matter whether the debt of which the taxpayer is relieved was used to acquire the property being sold or was borrowed against appreciation in that property and used for another purpose.

 

4.  In the case of foreclosure by a lender (and only in this situation), we treat recourse and nonrecourse loans differently

 

In the case of nonrecourse loans, for calculation of gain or loss, the amount realized by the taxpayer is the outstanding principal on the loan. When adjusted basis is subtracted from this amount, the taxpayer is likely to have gain.

 

In the case of recourse loans, for calculation of gain or loss, the amount realized equals the fair market value of property taken by the lender.  When adjusted basis is subtracted, the taxpayer may well have a capital loss.  In addition, if the outstanding debt is greater than the property’s FMV, the taxpayer will have COD income, which is ordinary..

  

5.  Here is a set of examples to show how these rules work.

 

Assume taxpayer owns as an investment property a building with an outstanding principal of $300K, with a FMV of $225 and an AB of $250K.  The lender forecloses.

 

If the debt is nonrecourse, the result is $50K of GR (AR of $300K – AB of $250K).

 

If the debt is recourse, the result is $25K of LR (AR of $225K – AB of $250K) AND COD of $75K ($300K of outstanding debt satisfied with property worth $225K.) The loss is likely to be capital loss, which has limits on its use; the COD income is ordinary.

 

Liabilities:  Basis and Amount Realized

1.  The amount realized (the gross proceeds) from a sale of property includes any liabilities assumed by the buyer as part of the transaction.  It also includes liabilities to which the property is subject (which is how nonrecourse liabilities are often described).  Payment or assumption of my debt by another is a benefit to me. 

In all of the following, the amount realized is $500K and the purchaser’s basis is $500K:


I sell property for $500K in cash and use $100K to pay off an unrelated debt.


I sell property for $500K in cash and use $100K to pay off a recourse debt on the 
property. 

I sell property for $400K in cash plus the buyer’s assumption of  unrelated debt for $100K.

I sell property for $400K in cash plus the buyer’s assumption of a $100K recourse debt I incurred to purchase the property.

I sell property for $400K in cash and the property is burdened with a $100K non-recourse mortgage.

Non-recourse Liability:  Crane and Tufts

In Crane, the taxpayer had inherited a building from her husband at time when both the fair market value and the non-recourse mortgage on the building was $250,000.  She operated the building for 7 years; during that period she claimed depreciation deductions of $25,000.  She then sold the building for the net amount of $2,500 in cash and subject to the mortgage, which remained at $250,000. 

I. The IRS position in Crane.

The IRS in effect required Mrs. Crane to give back the depreciation deductions by using a rule of symmetry:  if non-recourse liability is included in basis it must be included in amount realized. Relief of liability is to be treated as if Mrs. Crane had received cash and used it to pay the lender. It is as if the liability is satisfied in full.

The IRS calculated gain as follows:

1) Amount realized


a)
Cash






$   2,500


b)
Relief of mortgage




 250,000


c)
Total






 252,500

2) Less:  Adjusted Basis



a)
Original basis


$250,000

b) Less:  Adjustment for

                 depreciation

   25,000

c)
Adjusted Basis




 225,000


3)
Gain







$ 27,500

The Supreme Court made several observations in accepting the IRS position.  First, Mrs. Crane benefitted from treating the non-recourse liability as if it were a personal liability. If she had not done so, she would not have been able to realize the $2,500 appreciation.  Second, if she did not include the liability in her basis, her depreciation deductions would be far 1ess than the actual physical depreciation in the building.

II. The issue in Tufts.

In Crane, the Supreme Court stated that Crane obtained an economic benefit from the relief of her non-recourse mortgage because it permitted her to realize upon sale the $2,500 of appreciation.  This benefit argued for treating the relief of the mortgage as part of the amount realized.  The question, left open in Crane's footnote 37, was whether the same results would obtain if the value of the mortgaged property was less than the amount of the non-recourse mortgage.

Tufts presented this fact pattern.  In 1970 a partnership headed by Tufts borrows $1,850,000 on a non-recourse basis and uses the proceeds, together with $45,000 of its own money to build an apartment complex.  The partnership claims $440,000 of depreciation during 1971 and 1972.  In 1972, the partnership sells the complex to a third party for $250, subject to the loan, when the amount of the loan outstanding is about $1,850,000.

The government treats the tax payer as having received sale proceeds in the amount of the loan balance, even though the value of the land is less than the mortgage and the partnership could, if it had chosen, simply walked away from the complex.  The Supreme Court upholds this treatment and emphasized the consideration of symmetry:  if non-recourse debt is treated as cash investment for the purposes of determining basis, the relief from non-recourse debt should be treated the same as cash for purposes of determining sales proceeds.  This treatment also reconciles tax and economic consequences.  The members of the partnership have lost out of pocket only $44,750 of the $45,000 they invested.  They have, however, deducted $440,000 of losses through depreciation.  In order for tax consequences to match economic consequences, the tax payers must “give back” $395,250 of the depreciation deductions.

1) Amount realized



(a)
Cash






$         250



(b)
Relief of mortgage




 1,850,000



(c)
Total






 1,850,250

2) Less Adjusted Basis



(a)
Original basis





1,895,000



(b)
Less depreciation

   


440,000



(c )
Adjusted basis





 1,455,000


3)
Gain realized






    395,250

Why was Bayles willing to "pay" $250 plus taking the property subject to the loan for property with a fair market value less than the debt?  Bayles has a cheap "option" on the land.  If it rises in value, he’ll pay the debt; if not, he’s lost only $250 and any interest paid to avoid default on the loan.

III. Borrowing against Appreciation:  Woodsam Associates

While borrowed funds used to acquire property are included in basis, subsequent borrowing against appreciation does not increase basis.  Neither, as we have seen, does it require recognition of income.  Even if an amount borrowed on a non-recourse mortgage exceeds the basis in the property so that the gain is “locked-in," no income is recognized at the time of the borrowing. Even with a non-recourse loan, remember, the owner gets the benefit of any further property appreciation.  If the property is later transferred subject to the mortgage, the amount realized, however, includes the earlier loan proceeds.  Assumption of liability or the amount of loan to which the property is subject is included in the amount realized even if the liability was not included in basis.

Suppose I buy non-depreciable property for $10,000, paying $2,000 of my own funds and borrowing $8,000 non-recourse.  My basis is $10,000.  If the property appreciates to $40,000 and I borrow an additional $20,000 non-recourse, I recognize no gain and my basis remains $10,000. The subsequent borrowing of $20,000 is considered untaxed appreciation and is not included in basis.  If the property appreciates further to $50,000 and I sell it (without having paid any principal on either mortgage) for $22,000 subject to both mortgages, my amount realized is $50,000 ($22, 000 in cash and relief of $28,000, of debt) and my gain is $40,000 ($50,000 minus $10,000 basis).

Debt and Deidrich Review Problems

1.  F owns a plot of land worth $100K.  F tells D he will sell her ¼ of this plot of land if she pays a $25K debt he owes.  What is F’s gain and D’s basis in her purchase if F’s basis in all of the land at the time F purchased the land was:

a. $12K

b. $40K

2. Father tells Daughter he will transfer land worth $100K to her if she pays a $25K debt he owes.  What is Father’s gain and Daughter’s basis if Father’s basis in all the land at the time he purchased the land was:

a. $12K

b. $40K

3. L bought a house as a principal residence with $20K cash and $300K borrowed on a recourse basis.  What are the income tax consequences to L if the bank pays the following for the house in a foreclosure sale when the outstanding principal on the debt remains at $300K?

a. $300K

b. $275K
Answers

1a.  He is selling ¼ for $25K.  IF the basis of the whole is $12K, basis in ¼ is $3K and GR for F on the sale of the ¼ is $22 ($25K-$3K).  D’s basis is her cost basis of $25k.

1b. AR is still $25K. If the basis in the whole is $40K, basis in ¼ is $10K and GR for F on the sale of the ¼ is $15K ($25K AR - $10K basis).  D’s basis is her costs basis of $25K.  Question 1 is an application of 1.61-6.

2.  In both A and B AR is 25K, as in #1. 

In a, F gets to allocate all of his basis to sale portion, so gain realized is 13 ($25K AR – $12K AB) ; daughter’s basis will be $25 (under Deidrich rule, larger of what transferee pays or transferor’s basis).  

In b, AR remains $25K, but F can allocate $25K of basis to the transaction F’s gain will be 0 ($25K AR - $25K AB); D’s basis will be $40 (transferor’s basis is greater than amount transferee pays.) 

3a.  $300K AR (foreclosure sale tells us FMV of house–$ 320K AB (no depreciation on principal residence) = (20) but no COD because sale is enough to pay outstanding debt.

3b. $ 275K AR (foreclosure sale tells us FMV of house)   – 320 = (45) and 25K COD (bank had $300K in recourse debt outstanding but got only $275) but COD not included in income under Mortgage Forgiveness Debt Relief Act.

Characterization: Capital Gains and Losses 

Key Points: 
· dealer/real estate developer = ordinary income 
· trader/investor = capital gain 
· For individuals, capital gains are usually from real estate and securities

· Section 1211 limits deductions of capital losses, for the most part to the amount of capital gains. Why? We want to avoid cherry picking. 
· Long term held more than one year 

· Short term held not more than one year 

· Individuals can use capital losses against capital gains and up to $3K of additional capital loss against ordinary income (each year) 
· Section 1222 speaks of sale or exchange of capital asset 

· Sale or exchange of a capital asset has many advantages:

· Recovery of basis (compare sale of stock to receipt of dividends)

· Eligibility for installment sale

· Deferral under realization requirement 

· Preferential rates (15% or 20%) 

· What is a capital asset? 1221(a) says the “term ‘capital asset’ means property held by the taxpayer (whether or not connected with his trade or business), but does not include...” 

· Would seem as if all non-excluded items are capital assets 

· But that approach is inconsistent with Congressional intent 

· Most important excluded category is section 1221(a)(1) 
· “Stock in trade of the taxpayer or other property of a kind which would properly included in the inventory of the taxpayer if on hand at the close of the taxable year, or property held by the taxpayer primarily for sale to customers in the ordinary course of business.”
· Last phrase is for real property 
· Section 1221(a)(2) involves an important concept ( gets the best of both worlds

· “Property, used in his trade or business, of a character which is subject to the allowance for depreciation . . . or real property used in his trade or business.”

· This is the shoemaker’s shoe-stitching machine, not the shoes or shoe leather 

· Known as 1231 property [1221(a)(2) property is 1231 property] 

· Ordinary income treatment if there is a loss 

· Capital gain treatment if there is a gain 

· Biefeldt: dealer or trader in securities 

· If he is deemed a trader in securities, these losses will be capital; if he is deemed a dealer, the losses will be connected with stock in trade and will be ordinary 

· Dealer’s income is based on services and distribution of goods (ordinary income) 

· Trader’s income is based on fluctuations in the market value of the securities he trades (capital gains) 

· Biefeldt bought large quantities of Treasuries from primary dealers and then held until there was a better price ( court characterized him as a trader who suffered a capital loss 

· Sec. 1221(a)(1) and Real Estate 

· Imagine a farmer whose land is ripe for development.
· Assume his basis is $100K.
· If he sells to developer for $1,000,000, he will have $900K of gain.
· All treated as capital gain under section 1231.
· Variation on this hypothetical... 

· He decides he will make more money if he subdivides and sells.  He becomes a full-time developer and real estate broker.  
· He also buys the lot next door for $1 million.
· He sells the houses on the two lots for total of revenue of $3 million, after taking into account all of his costs except the land.
· He will have $1,900,000 of ordinary income.
· Even the appreciation in value of his land from $100,000 to $1,000,000 will be treated as ordinary.  

· Biedenharn Realty – Factors used by courts 

· Frequency and substantiality of sales 

· Frequency is the most important factor

· Improvements 

· Solicitations and advertising efforts 

· Brokerage activities 

· If you give brokers full control, then this makes you a trader (factor for capital gain treatment) 
Capitalization and Capital Gain Review Question

 

Alice, a cash basis taxpayer, purchased a piece of real property two years ago.  The price for it was $220,000.  Alice paid $40,000 in cash and raised the other $180,000 by taking out a non-recourse loan on stock she owned for that amount.  (The bank was willing to give her this non-recourse loan on the stock because it had appreciated so much in value.)  The property had once been used as a boys’ summer camp, but had been abandoned for some time when Alice bought it.

 

What would be the income tax consequences to Alice if early next year, she spends $100,000 from the sale of another property to subdivide this property, to install water and sewage facilities as well as roads, and in the six months following completion of those improvements, sells 4 plots of land, representing 20% of the property, using the services of two different brokers, neither of whom she controls. 
	
	Ordinary 
	Capital 

	Improvements 
	X
	

	Substantiality 
	
	X

	Frequency 
	X
	

	Advertising 
	
	

	Broker 
	
	X


Is it capital gain or ordinary income?

· Frequency of sale – 4 lots only 20% (substantial), 4 lots in six months (frequency) 

· Improvement – argue for developer 

· Lots of improvements = more like a dealer 
Capital Gains Preference - Summary of Policy Debate

Arguments in Favor of a Preference and the Rejoinder

 

1.  Not income.
 

Pro:  Capital gains should not be deemed income because they are unexpected, nonrecurring receipts, wholly unlike wages or other payments for productive effort.

 

Con:  Given a definition of income as ability to pay, hard to say capital gains are not income.  For many people, capital gains are expected and recurrent.  Other one-time extraordinary receipts such as windfalls, are taxed as ordinary income.

 

 

2.     Bunching
 

Pro:  The realization rule forces a taxpayer to report in one year capital gains that have accrued over several years and thus the gain is subject to a higher marginal rate than would have applied had the gains been reported each year as they accrued; a capital gains preference operates as an averaging device.

 

Con:  Capital assets have already had the benefit of deferral; the longer the holding period, the greater the benefit of deferral.  The deferral benefit may well be greater than the bunching burden.  Taxpayer may have been at highest marginal rate even if no bunching.  If bunching is a problem, the solution should be more targeted - such as averaging rather than an across the board preference.

 

 

3.  Inflation
 

Pro: Capital gains are largely inflationary; thus they do not represent economic income.

 

Con:  For assets held a long time, the benefits of deferral may exceed the detriment of inflation.  For assets held a short time in a period of high inflation, the preference is not enough.  A capital gains preference is so rough a proxy for inflation as to provide no justice.

 

 

4.  Risk
 

Pro:  Existence of income tax discourages risk because it reduces the expected return from a risky investment, a problem exacerbated by the limitations on loss.

 

Con:  Address loss limitations or risky investments directly.

 

5.  Lock-in Effect.

 

Pro:  Recent survey describes this as most serious argument in favor of capital gains preference.  Given our realization system and the ability to step-up basis to FMV at death, investor will be reluctant to incur a tax even if in absence of tax, the investor would make another investment.  Lock-in reduces liquidity, impairs the mobility of capital, and may lead to broader fluctuations in market prices. 

 

Con:  Does lock-in impose significant burden on the economy as whole - do we care who owns Microsoft stock?  What about more targeted fixes, such as permitting rollover into another investment?  What about taxing accrued gains or gains at death?

 

6.  Encourage Savings.

 

Pro:  The preference operates as a savings incentive.

 

Con:  Uncertainty that raising rate of return on private savings increases the amount of private savings or if it does that it would decrease cost of capital and increase domestic investment.  If this is goal, consider consumption tax.    
Economic Efficiency 

Pro: Low or zero rates on capital gains encourages economic growth 

Con: Economic arguments do not answer the normative issue of appropriate wealth distribution 
Review Questions:
· Your client owns a large estate near Dallas.  It includes acres of vacant land.  Her husband has passed away; her children have moved away; and she is ready to sell.  Local real estate prices have been going up. Her neighbor, who knows a fair amount about the local real estate market has told her the following: 
· If the estate is sold in one piece this year, it will bring $1,000,000.
· Capital gain 

· If it is subdivided into residential lots and sold over three years, it will bring $5,000,000.
· Depends on frequency 

· If she spends $100,000 to advertise the new residential subdivision, it will bring $6,000,000. 
· More of a dealer 

· If she convinces the local authorities to make plans for sewers, parks and schools in or near the subdivision, it will bring $7,000,000.
· More of a dealer – ordinary income 

· What do you advise her?
Gains from Investment 
Key Points:

· Income includes gain realized on sales and exchanges
· Loss on sales or exchanges can reduce taxable income 

· Depreciation deductions reduce basis and allow recovery of investment 
· Certain costs, such as improvements, will be “capitalized” or added basis 

· Key Realization case: Eisner v. Macomber 
· Stockholder got one new share for each two shares owned.
· Originally owned 2,000 shares valued at $360 a share for a total value of $720,000
· After stock dividend, owned $3,000 shares valued at $240 a share for a total of $720,000
· Percentage of stock owned did not change

· Do the following receipts or accretions of wealth constitute income in Year 2? 

· Ms. M buys one share of XYZ stock for $100 in Year 1.  XYZ earns $10 in Year 2 and distributes a cash dividend of $10 in Year 2. – Yes 

· Ms. M purchases one share of XYZ stock for $100 in Year 1.  XYZ earns $10 in Year 2 and the value of her stock rises to $110. – No 

· Ms. M buys one share of XYZ stock for $100 in Year 1.  XYZ earns $10 in Year 2 and distributes a stock dividend with a face amount and fair market value of $10 in Year 2. – No (same class of stock and no choice) 
· Ms. M buys Greenacre for $100,000 in Year 1.  At the end of Year 2 Greenacre is worth $110,000. – No (unrealized appreciation) 
· On the first day of Year 1, Ms. M places $100,000 in a money market account.  The account earns $10,000 of interest in Year 2.  Per her instructions, the interest is automatically reinvested in the account. – Yes (had the cash and chose to reinvest it) 
· Realization v. Recognition 
· Realization – when enough has happened that we could very well impose a tax 
· Recognition – a change in circumstances when we do in fact impose a tax 

· Usually they happen at the same time 

· Different legal entitlements = realization event 
· Cottage Savings teaches that a difference in legal entitlements is a material difference constituting a realization event 

· As a result of Cottage Savings it is almost impossible to maintain that an exchange in form is not a realization event in substance 

· Nonrecognition provisions may still apply 

· Section 1001 defines a realization event – tax lawyers refer to a 1001 event 
· BUT the language of section 1001 is arguably overinclusive. A gift is a disposition and not a realization event 

· The language of section 1001 is also arguably underinclusive. Collecting insurance proceeds for a fire or having property become worthless is a realization event although there is not a sale or disposition 

· The regulations are stricter on when a loss has been realized than when a gain has been realized 

· Section 121: Special treatment for sale of your home 
· If you have used the house as your principal residence for at least two of the past five years...

· Individuals can exclude up to $250,000 of gain.
· Married taxpayers filing jointly can exclude up to $500,000 of gain.
· You can use this provision only once every two years, with exceptions for change in place of employment, health, etc.  
Review Problems: 

· Mrs. M owns 100 shares of stock of XYZ Co.  XYZ gives her a choice of a dividend of $10 per share or one additional share for 10 shares owned.  She chooses the additional shares.  Does she have any taxable income? 
· Yes – she has a choice (as if she received the cash and invested it) 

· Siblings Flo and Mo own a house as tenants in common.  Flo has been using the upstairs bedroom and sitting room; Mo the downstairs bedroom and sitting room. Flo hurts her leg and they decide to switch floors.  Is any gain or loss realized?
· No – no change in legal entitlements 

· Bob and Jennifer, a married couple, bought their house 15 years ago for $600,000 and have lived in without interruption since then.  They are about to sell it for $1,200,000.  How much gain do they realize?  How much do they report?
· Realize $600,000; recognize $100,000 

· Get to exclude up to $500,000 (married filing jointly) 

Realization vs. Recognition
1.  Realization is a time when enough has happened that we could very well impose a tax.
2.  Recognition is a change in circumstances such that gain or loss is taken into account.  
That is, not only could we impose tax, but we in fact do impose tax.
Usually, realization and recognition happen at the same time.  However, the Code includes a variety of special non-recognition provisions.
3.  Identifying a realization event is not always easy.  
Remember the example of the piano discovered to have one gold key.
The Supreme Court in Cottage Savings said that a difference in legal entitlements is a material difference constituting a realization event.
4. Until an actual sale or disposition there remains the possibility that the taxpayer may recover or recoup the adjusted basis.  In general, loses are not taken into account until some identifiable event occurs fixing the actual sustaining of a loss and the amount thereof.
Gain and Loss on Sales and Exchanges
 

1.  Income includes gain realized on sales or exchanges.  Loss on such transactions can reduce income.
Often, but not always, such gains or losses are "capital."  If so, they are subject to special rules and may be subject to special rates.
 

2.  The key provision is section 1001, which defines the gains or loss from the sale or other disposition of property as the difference between "the amount realized" from the sale or disposition of the property and its "adjusted basis."
 

The realization requirement is implicit in section 1001.
 

3.  "Amount realized" is the gross amount received by the taxpayer.  It is everything the taxpayer gets (including debt relief).  If we do not know the value of what the taxpayer receives, we look to the value of what the taxpayer gives up.  We assume that in an arms'-length transaction between two unrelated parties these values will be the same.
 

4.  "Adjusted basis" is what the taxpayer recovers tax-free.  It often represents the taxpayer's original investment in or cost of the property.  Thus, each taxpayer has her or his own basis in property, which in most cases is unrelated to the transferee’s basis.  Basis is sometimes the amount on which the taxpayer was taxed, as, for example, when a taxpayer receives stock as compensation.  
 

The Code includes a variety of special basis provisions.  These include gifts, inherited property, and property that has benefited from nonrecognition provisions, such as section 1031.  In such cases, the transferee’s basis will be related to the transferor’s basis.
 

Many kinds of property are entitled to depreciation or cost recovery deductions.  These deductions, taken against income for the year, also reduce basis.
 

Certain costs, such as improvements, will be "capitalized" or added to basis.
 

5.  Gain realized is the difference between amount realized and adjusted basis.  Unless a nonrecognition provision applies, gain realized will be included in income.
 

6. Try always to ask yourself first, what is the amount realized; second, what is the adjusted basis; third, what is the gain realized; fourth, how much of that gain is recognized.
REALIZATION AND THE TIME VALUE OF MONEY
 

I buy a stock for $50,000 on the last day of year 0.  On the last day of year 1, it is worth $150,000.  Its value remains at $150,000 for 10 years.  I sell it for $150,000 on the last day of the year in year 10.  Assume that the tax rate for all these years is a constant 20%.

 

Under our system, which taxes only realized gains, when I sell the stock in year 10, I would have $150,000 in sale proceeds for $150,000, gain of $100,000, tax on that $100,000 at 20% and thus a tax bill of $20,000.

 

Now imagine we had a system that taxed unrealized gain each year.  I would owe tax of $20,000 in year 1 (20% of $100,000).  Having paid tax on the gain, I would owe not further tax when I sell it for $150,000 in year 10.

 

In both cases, I would end up with sale proceeds of $150,000 and a tax liability of $20,000.

 

But I will be better off if I can wait to pay tax until year 10.  Why?  I can invest the $20,000 I would otherwise pay in tax and get the after-tax investment (compounded) on this $20,000 for 10 years.

 

Another way to look at this is to ask the following:  if I have to pay $20,000 in 10 years rather than now, how much do I have to put aside now so that, after tax on its earnings, the amount put aside plus compounded interest on the amount put aside will equal $20,000?

 

Assume that my after-tax rate of interest is 6%.  I want to know the present value in 10 years of $20,000 at 6%.

 

Look at the present value chart in the text.  At 6%, a dollar in 10 years is worth .558 now.  That means that if I put aside less than 60 cents now and it grew at 6% for 10 years, I would have $1 at the end of that time.

 

To find out the present value of $20,000 in 10 years at 6%, I multiply .558 times 20,000. When I do this, I learn that $20,000 in 10 years is worth $11,160.

 

That is, to pay $20,000 in 10 years instead of now, I have to put aside only $11,160.  I am free to do what I want with the other $8,840.  By postponing the payment of the $20,000 for 10 years, I come out $8,840 ahead—which is 44% of my total tax bill.
Eisner v. Macomber

  

1.  Treatment of stock dividends.

 

How to treat stock dividends is an example of competing analogies.  Is my getting another share of stock as a dividend more like my first share increasing in value or more like my getting a cash dividend and buying another share of the stock.  The case holds that it is more like the former.  Why?  I still have the same % interest in the corporation and I had no choice about the form of my investment.  

 

Remember the pizza story:

 

Questions  “How many slices in your large pizza?”

 

Answer:  “How many do you want?” 
The result in the case remains the law today, although now a statutory provision governs.  A pro rata stock dividend of common stock on common stock does not result in taxable income.
Review Questions:

1. Mrs. M owns 100 shares of stock of XYZ Co.  XYZ gives her a choice of a dividend of $10 per share or one additional share for 10 shares owned.  She chooses the additional shares.  Does she have any taxable income? 
 - Yes – she has a choice 

2. Siblings Flo and Mo own a house as tenants in common.  Flo has been using the upstairs bedroom and sitting room; Mo the downstairs bedroom and sitting room. Flo hurts her leg and they decide to switch floors.  Is any gain or loss realized?
- No, no change in legal entitlements 

3. Bob and Jennifer, a married couple, bought their house 15 years ago for $600,000 and have lived in without interruption since then.  They are about to sell it for $1,200,000.  How much gain do they realize?  How much do they report?
- $600,000, but 121 applies so can exclude $500,000 

- Only report $100,000 
Section 1031 Like-Kind Exchanges 
Key Points: 

· Section 1031 permits nonrecognition – deferral of tax – at least in part, if we swap like-kind property held for permitted purposes (“qualifying property”) 
· The “price” for nonrecognition and the method for deferring gain recognition is carryover or substituted basis 

· A taxpayer must swap; taxpayers cannot satisfy the statute by receiving cash and later buying like-kind property with the cash 

· Section 1031 is not elective, but it is easy to avoid

· Sell property instead of swapping it 

· Only real estate is eligible; not personal property 

· Principal residence does not qualify for 1031 like-kind exchange 

· For real property, the rulings have been generous as to what is like-kind

· Urban real estate and ranch are like-kind.
· Improved and unimproved land are like-kind.
· Fractional interest in minerals on rural land and fractional interest in city hotel lot are like-kind.
· Perpetual conservation easement (PCE) for fee interest burdened by PCE
· In addition to being like-kind, statute requires that, for the taxpayer whose exchange we are examining, both the property given up and that acquired must be 

· Either held for productive use in a trade or business or 
· Held for investment 
· Personal consumption/use is not considered investment 

· Renting/leasing property categorized as investment 

· Need to look at each party separately
· Property held for sale in the ordinary course of business is NOT eligible for section 1031 treatment. Thus, real estate developer cannot use. 
· Property held for sale to customers in the ordinary course of business is not eligible for sec. 1031 treatment.

· It is OK to exchange investment property for property to be used for productive use in a trade or business and vice versa.  That is, the provision does not require that both properties be held for investment or that both be held for productive use in a trade or business 
· Thus, I can exchange the office building I used in my shoe-making business for an office building I intend to hold for investment.    
· It is okay under sec. 1031 for the taxpayer to exchange property held for productive use for investment property or vice versa.  The property held and that acquired do not both have to be held for the same permitted purpose.
· The taxpayer doing the exchange can mix and match, trading property held for one of the permitted uses for property held for the other 

· Gifts are not eligible under section 1031 

· Okay to swap ranch for another ranch and give ranch to children 9 months later.
· Not okay to swap farm for residential properties chosen by kids and in which kids lived for free until gift. 
· Real estate inside and outside the U.S. are not like-kind 

Basis Rules 

· When receiving boot:

· Basis in old property 

· The lesser number of gain realized or boot received 

· If there is a loss realized, then you will put 0 in the pot 

· Last step: subtract the boot received 

· When giving boot:

· Basis in old property 

· Basis in boot 
· Gain or loss recognized on disposition of the boot 

· If you give cash, then add face value of the cash to the pot 

· When both receiving and giving boot: 

· Basis in old property 
· Lesser number of gain realized or boot received 

· Basis in boot given 
· Gain or loss recognized on disposition of the boot 

· Last step: subtract the boot received 
Problems Page 233: 
1. Suppose that S exchanges X Farm, with a basis of $10,000, for Y Farm, which is worth $100,000, and that in addition S receives $15,000 cash and a tractor worth $8,000. What amount of gain or loss recognized? 
123,000 – 10,000 = 113,000 ( only $23,000 recognized (the FMV of the boot) 

· $90,000 of gain is deferred 

· Total Basis: 

· 10,000 (original basis) 

· 15,000 (cash)

· 8,000 (FMV of tractor) 

· = 33,000

· – 15,000

· – 8,000

· = 10,000 basis in new farm (deferral intended for only qualifying property) 

2. Suppose basis had been 110,000

123,000 – 110,000 = 13,000 (all recognized) 

· Total Basis:

· 110,000 

· + 13,000 (boot only calculated up to gain realized; recognize lesser of boot or gain realized) 

· = 123,000

· – 15,000 

· – 8,000

· = 100,000 basis allocated to new farm 

3. Suppose basis had been 130,000 

123,000 – 130,000 = 7,000 – cannot recognize loss under 1031  

· Total Basis: 

· 130,000 + 0 (gain) 
· – 15,000

· – 8,000

· 107,000 
· Gain is recognized to the extent of boot received 

· Disposition of nonqualifying property can generate a gain or a loss 

· No other losses recognized 

· Only can recognize loss if you pay with boot 

Basis Allocation for Like-Kind Exchanges 

· Total basis – basis of old property, gain recognized because of boot received, basis of boot paid (including cash), gain or loss on disposition of boot 
· Basis is allocated to cash received, non-cash boot received its FMV and then to qualifying property 
· First calculate the “pot” of basis, which is:
· Basis of all qualifying property given up, plus 
· Gain recognized because of boot received, plus 
· Basis of boot paid (includes face value of cash), plus
· Gain or loss (as a negative number) recognized because of boot paid 
· Only boot paid can generate a loss 
· Treat boot paid as a side transaction ( calculate gain or loss 
· Include the FMV of boot paid in your total basis number for the pot of basis 
· Assign any U.S. cash received its face value and reduce the pot of basis by that amount 
· Assign any non-cash boot received FMV as basis and reduce the pot of basis further by that amount 
· What remains in the pot is the basis for qualifying property 
· If there is more than one piece of qualifying property, allocate basis between or among them per relative fair market value of the properties. 
Received boot: basis of old property and gain recognized because of received boot 
Boot paid: basis of old property, basis of boot, and gain recognized on the disposition of the boot 

The basis of the new qualifying property will not be the same as the basis of the old qualifying property, if (1) boot is greater than gain realized, (2) the qualifying property given up has a built-in loss, or (3) boot is paid. 
Summary of Section 1031

If a taxpayer gives up only qualifying property and receives only qualifying property, the new qualifying property will take a basis equal to that of the old qualifying property. 


Example 1:  Taxpayer exchanges Old Farm, which is held for investment and has an adjusted basis of $10K and a FMV of $75K, for New Farm, also to be held for investment with a FMV of $75K.  Taxpayer realizes a gain of $65K ($75K amount realized minus $10K basis), but recognizes none of this gain.  Taxpayer’s basis in New Farm is $10K, the basis of Old Farm.  If taxpayer were to sell New Farm before there were any changes in its value, Taxpayer would realize and recognize a gain of $65K ($75K amount realized less $10K basis), the gain that was deferred in the like-kind exchange.


The total basis to be allocated among all properties received is $10K (basis of Old Farm) plus zero (no gain recognized) minus zero (no loss recognized), for a total of $10K.  No boot, either cash or noncash, was received, so no basis is allocated to boot.  The entire $10K is allocated as the basis of New Farm.  If we sold New Farm for $75K, we would then recognize the $65K of gain that was deferred.

GAIN RECOGNIZED BECAUSE OF THE NONQUALIFYING PORTION OF THE EXCHANGE WILL BE THE LESSER OF BOOT RECEIVED OR GAIN REALIZED.  No matter how much boot taxpayer receives, gain recognized cannot exceed gain realized. Moreover, receipt of boot does not trigger recognition of LOSS on the like-kind portion of the exchange.   


Example 2:  Taxpayer exchanges Old Farm, with an adjusted basis of $10K and FMV of $75K, for New Farm, with a FMV of $65K, cash of $3K, and a tractor worth $7K.  Gain realized is $65K, the same as above, but gain recognized is now $10K.  Gain is recognized to the extent of boot, which here is $10K (the amount of cash and the FMV of the tractor).  Boot of $10K is less than gain realized of $65K.  $10K of gain is recognized, and recognition of $55K of realized gain is deferred.


The total pot of basis is $10K (basis of Old Farm) plus $10K (gain recognized because of received boot), for a total of $20K.  $3K of this is allocated to the cash and $7K, the FMV of the tractor, is allocated to the tractor as its basis. That leaves $10K and New Farm is assigned this $10K as basis.  This is the proper amount, because if Taxpayer sold New Farm for its FMV at the time of exchange, $65K, Taxpayer would recognize gain of $55, the amount of gain that was deferred at the time of the exchange.  




In this example, the amount of gain recognized and the amount of boot received exactly canceled each other out and the basis of New Farm was exactly the same as the basis of Old Farm.  Such will often be the case.  It will not always be true, however.  The basis of the new qualifying property will not be the same as the basis of the old qualifying property, if (1) boot is greater than gain realized, (2) the qualifying property given up has a built-in loss, or (3) boot is paid.  Thus, it is important to apply the formula each time.


Example 3:  Taxpayer exchanges Old Farm, with an adjusted basis of $10K and FMV of $75K, for New Farm with a FMV of $5K, cash of $63K, and a tractor worth $7K. Boot is $70K.  Gain realized is $65K.  Since boot exceeds gain realized, Taxpayer must recognize the entire realized gain of $65K. No recognition of realized gain is deferred. 


The total pot of basis is $10K (basis of Old Farm) plus $65K (gain recognized up to gain realized because of receipt of boot) for a total of $75K.  $63K of this total is assigned to the cash and $7K, the FMV of the tractor, to the tractor as basis, for a total of $70K of basis assigned to boot.  That leaves $5K of basis for New Farm. This is the proper amount, because if Taxpayer sold New Farm for $5K, its FMV at the time of exchange, there would not be any gain realized.  Neither should there be.  Taxpayer recognized all the gain at the time of the exchange.  There is no more gain waiting to be recognized.  There was no deferral.  Section 1031 did not give this taxpayer any advantage, but the transaction might have benefited the other side. Nonetheless, the basis formula works.




Note that here, where boot is greater than gain realized, the basis for New Farm is its FMV, not the basis of Old Farm.  This makes sense when all gain is realized; the transaction amounts to a sale and the new property takes its FMV as basis, as is the case generally with taxable sales.


Example 4:  Taxpayer exchanges Old Farm, with an adjusted basis of $90K and a FMV of $75K, for New Farm, with FMV of $65K, cash of $3K, and a tractor worth $7K.  Loss realized is $15K.  No loss is recognized.  Section 1031(c) specifies that receipt of boot does not trigger recognition of loss. A $15K realized loss is deferred.


The total pot of basis is $90K (basis of Old Farm) plus 0 (no gain recognized) minus 0 (loss recognized only on boot used to pay; not on qualifying property if boot is received), a total of $90K.  We assign $3K of this total to the cash as its basis and $7K, the FMV of the tractor, to the tractor as its basis.  That leaves $80K as the basis for New Farm.  If we sold New Farm for its FMV of $65, we would realize $15K of loss, which is exactly the loss that had been deferred.



Note that here, where there is a built-in loss in the old qualifying property, the new qualifying property will be assigned a basis that differs both from the basis of the old qualifying property and the FMV of the new qualifying property.       

Rather than receive boot, taxpayers sometimes will have to pay boot in a like-kind exchange in order to make the deal work economically.  Boot that is paid is not entitled to nonrecognition treatment. Paying boot is a disposition of the property and such disposition does not get the benefit of nonrecognition. When boot is used as part of the property transferred, gain or loss must be recognized on disposition of the boot.  Thus, loss is recognized in a like-kind exchange if and only if boot with a built-in loss is transferred as part of the payment for a like-kind exchange.


Example 5:  Taxpayer exchanges Old Farm with an adjusted basis of $10K and FMV of $75K along with a painting with a basis of $5K and an FMV of $20K for New Farm, which has an FMV of $95K.  

95 – 30 (10 basis of old property + 20 FMV of painting) = 65 (deferred) 

20 – 5 = 15k realized and recognized 

Pot: 10 (basis of old property) + 5 (basis of painting) + 15 (gain realized of painting) = 30 (new basis in property) 


Example 6:  Taxpayer exchanges Old Farm with an adjusted basis of $10K and an FMV of $75K along with a painting with basis of $35K and FMV of $20K for New Farm, which has a FMV of $95 K.  
95 – 30 (10 basis of old property + 20 FMV of painting) = 65 (deferred) 

20 – 35 = 15K loss realized and recognized 

Pot: 10 (basis of old property) + 35 (basis of painting) – 15 (loss of painting) = 30 (new basis in property) 

More on Like-Kind Exchanges

Farmer Brown exchanges Family Farm, which has a basis of $50,000 and a fair market value of $75,000, and an antique diamond ring, just inherited from his mother, worth $25,000 for $10,000 and a small office building, owned by Roberta Retiree, with a basis of $75,000 and a fair market value of $90,000.


Steps in Analysis

1.
Whose exchange are we evaluating?

2.
Are the properties excluded from section 1031?  If the answer is yes, go no further.

3.  
Are these like-kind properties?  If the answer is no, go no further.

4.
Will both the property acquired and the property given up be held for one of the two permitted purposes by the taxpayer’s whose exchange we are evaluating?  


That is, if evaluating Farmer Brown’s exchange, analyze how he held family farm and how he will hold office building. If evaluating Roberta Retiree, ask how she held office building and how she will hold farm. How Roberta held office building does not matter to Farmer; how Farmer held farm does not matter to Roberta.

5.
How much gain is realized?

6.
Is boot received?

7.
Is boot paid?

8.
How much gain is recognized on the like-kind/qualifying property portion? (On the like-kind portion, gain realized is recognized to the extent of boot received.)

9.
Is any gain or loss recognized because of payment of boot? (Think of payment of boot 
as separate from the like-kind transaction.)  

10.
What is total basis to be allocated among properties? (Basis of old like-kind property plus gain recognized on like-kind portion of transaction plus FMV of any boot paid.) (FMV of boot paid equals basis of boot paid plus gain recognized or minus loss recognized on boot paid.) 

11.
Is any cash received? (Cash receives its face amount as basis) 

12.
What is the fair market value of non-cash boot received? (Non-cash boot received takes 
its FMV as basis.) 

13.
What basis remains to assign or allocate to qualified property?

14.
As a check on your calculations, ask yourself how much gain would be recognized if we were to sell the new like-kind property for its current fair market value?   Is that the amount of gain that has been deferred? It should be.  

Answers to More on Like-Kind Exchanges

(Farmer Brown and Roberta Retiree)

Farmer Brown 
100 (90k FMV of new property + 10k cash received) – 75 (50 basis in old property + 25 FMV of boot) = 25 (deferred) 

Ring: 25 – 25 (FMV of boot because decedent gift) = 0 (gain or loss on boot given) 

Pot: 

50 (basis in old property) + 25 (basis in boot given) + 0 (gain or loss on boot given) + 10 (boot received) = 85 – 10 (boot received) = 75 (new basis) 
Roberta Retiree
100 (75k FMV of new property + 25k FMV of ring) – 85 (75 basis in old property + 10 in cash) = 15 gain realized and recognized 

Pot: 

75 (basis in old property) + 10 (cash given) + 15 (gain recognized) = 100 – 25 (boot received) = 75 (new basis) 
Like-Kind Exchange Review Problem

Grandmother Moneybags wishes to help her grandson Sam get into the real estate business.  Based on their admittedly limited knowledge of the tax laws, they have come up with the following possibilities.

1.  Have Grandmother give Sam an office building in Los Angeles with an adjusted basis of $20,000, which is now worth $100,000.  Sam would hold and operate this building for a little over two years and then, when its adjusted basis would be $16,000 and its fair market value is expected to be $110,000, he expects to exchange it for an undeveloped tract of land near San Diego.  The San Diego property is expected to be worth about $140,000 by then, in which case Sam would borrow $30,000 recourse from the bank secured by stock he owns and use that money as well to acquire the San Diego property.

2.  Have Grandmother exchange the office building for the San Diego plot of land this year.  The office building’s adjusted basis would be $20,000 and its fair market value of $100,000.  The current fair market value of the San Diego land is now $90,000; the owner of the San Diego property would also pay Grandmother $10,000 in cash.  One month after the exchange, Grandmother will give the San Diego land to grandson.

3. Have Sam borrow $20,000 on a recourse basis from a bank secured by stock Sam owns and have Grandmother transfer the office building, with a basis of $20,000 and a fair market value of $100,000, to Sam for the $20,000 he just borrowed.

Describe the income tax consequences of each of these scenarios for both Grandmother and Sam.  Do not forget to include discussion of basis in discussing tax consequences.  

Treat expected values as actual values for purposes of this problem.

Like-Kind Exchange Review Problem Answers

Note:  These comments are based on my observations when I gave these problems as a quiz.

GENERAL COMMENT – ANSWER THE QUESTION ASKED.  DON’T DISCUSS WHAT THE LAW COULD BE WHEN YOU ARE ASKED WHAT THE LAW IS.

Question 1.  

Gift for income tax purposes if detached and disinterested generosity by Grandmother and no facts to contradict, so seems so.  If gift, not a realization event to her; no gain realized or recognized.  No deduction for gift.  No income to Sam under section 102.

THERE IS NO NEED TO DISCUSS SECTION 61 AND THE FACT THAT IN GENERAL INCOME IS DEFINED BROADLY WHEN THERE IS A SPECIFIC EXCLUSION. 

Sam takes her basis of $20K, under the rules of section 1015 for inter vivos gifts.

Looks as if he has about 2K in depreciation deductions while he holds the building (although we haven’t covered this yet).

No income tax consequences to Sam from borrowing at time of borrowing.

In this question, must test whether Sam qualifies under tests of section 1031.

Properties are like-kind because of generous rules under 1031 for real estate, even though one is developed and one is not.

Maybe he has proper intent re both properties (that given up and that acquired) and maybe not.

We really need to know more about the San Diego land – if he is going to develop and subdivide, it wouldn’t qualify, because it would be held for sale to customers in ordinary course of business (we will do those rules in detail later in semester).  For this problem, you do need to discuss that he must either hold the land for investment or for use in a trade or business for section 1031 to apply. 

If he does not satisfy the intent test for the San Diego property, the exchange will be taxable.  His amount realized would be $140K – the value of what he gets; the his AB in the sale would be $46K (16K in office building PLUS the $30K of cash he pays to seller of San Diego land. He will realize and recognize gain of $94 on it; he would then take a FMV basis of $140K in the San Diego property. 

NOTE WHETHER THIS TRANSACTION QUALIFIES FOR 1031 OR NOT, THE AMOUNT REALIZED ON THE TRANSACTION IS $140K – NOT $110K.  THE AMOUNT REALIZED IS THE WHAT SAM GETS IN THE TRANSACTION.  THE GAIN REALIZED ON THE WHOLE TRANSACTION IS $94, WHICH IN THIS CASE IS THE SAME AMOUNT ON THE GAIN INHERENT IN THE OFFICE BUILDING. 

If, per discussion above, he acquires the San Diego property with the intent that it appreciate in value and he will sell the entire piece of property, the exchange will qualify for 1031.

If so, no recognition of the $94K in gain on disposition of office building and cash. 

Basis in new property includes $30K of cash.

MANY PEOPLE MISSED THIS – THIS IS PART OF THE PROPERTY HE GIVES UP IN THE EXCHANGE.  CASH GETS FACE VALUE AS BASIS.   – no special treatment because it is borrowed in an unrelated loan transaction.

His basis in new land is basis of $16 in office building given up plus the $30K he pays in cash, for total of $46K.  This is right because if sold for current FMV of $140K with basis of $46K, he would realize and recognize the deferred gain of $94K.

MANY PEOPLE CONFUSED AMOUNT REALIZED WITH GAIN REALIZED AND MANY PEOPLE CONFUSED FMV OF OLD BUILDING AND THE GAIN INHERENT IN OLD BUILDING WITH THE AMOUNT REALIZED ON THE TRANSACTION.

AR IS THE VALUE OF WHAT THE TAXPAYER RECEIVES IN THE TRANSACTION.  SAM RECEIVED LAND WORTH $140K.  

He gave up, in part, an office building worth $110K.  He his gain in the office building alone, when he disposed of it, was $94K.  That is also the gain realized on the whole transaction, but $94K is not amount realized either on the transaction as a whole nor on disposition of the office building.

Question 2.  

We would need to test whether Grandma qualifies under section 1031 in this problem.

Although land and office building still like-kind per above, this probably will NOT qualify as a section 1031 tax-free exchange.  Since Grandmother gives Sam the San Diego plot just one month after the exchange, she does not appear to be holding the San Diego land, the land she acquired in the exchange, for investment or for use in trade or business, so she would not qualify for 1031.  Both the property given up and the property acquired must meet the test of held for investment or used in a trade or business.

THE DECISION YOU MADE IN #1 RE SAM’S INTENT IS IRRELEVANT FOR THIS QUESTION#2, WHICH INVOLVES GRANDMA’S INTENT. 

If this transaction does not qualify under section 1031, she will have to recognize gain of $80K on the exchange.  She receives property worth 90K and cash of 10K; her amount realized is 100K, her basis is 20K.

If this is a realization/recognition event, that is, a taxable sale, she then takes a FMV basis of 90K in the San Diego land.  

When she gives it to Sam as an inter vivos gift, this 90K becomes his basis under 1015.

If for some reason this did qualify for 1031 treatment (that is, we could show she intended to hold the SD property for investment when she did the exchange and only later decided to give it to Sam – a hard argument to make on the facts), she would recognize the gain of $80K only to the extent of the $10K of boot received.  Thus $70K of gain is deferred.

Her basis in everything she received would be $30K (basis in office building of $20K plus gain recognized of $10K); the cash takes its face amount of 10K as its basis, leaving new property with basis of $20K (same as basis of old property).  If she sold new property for current FMV of $90K with a basis assigned of $20K, she would in fact realize and recognize the $70K of gain deferred, so this is the right amount to assign to basis.

SEVERAL PEOPLE FORGOT TO INCLUDE THE $10K OF GAIN RECOGNIZED IN POT OF BASIS AND ENDED UP WITH BASIS OF $10K IN NEW BUILDING.  THIS IS ONE OF THE CASES IN WHICH GAIN RECOGNIZED AND BOOT RECEIVED CANCELLED EACH OTHER OUT, SO THAT BASIS OF NEW PROPERTY ENDS UP BEING BASIS OF OLD PROPERTY.

Sam would take this $20K as his basis when he receives the gift from her, under the rules of section 1015 for inter vivos gifts.

Question 3.  

No income tax consequences to Sam from borrowing.

Clearly part sale and part gift – not simply a bargain sale, because of relationship of parties.  Not a gift both ways on the facts.

This would be subject to Diedrich rule – part sale and part gift in one transaction between natural persons.

She can allocate basis first to the sale portion. She has $20K amount realized and $20K basis allocated to this portion.  She has no gain on the sale portion.

Under the special basis rules applicable in the Diedrich situation, Sam’s basis is the greater of what he pays or Grandmother’s basis – here they are both $20K.  That is his basis. (Another way to look at it is that he has $20K of basis in portion he purchases for $20K; he takes Grandmother’s basis in gift portion, but that gift portion now has a zero basis, since all of her basis was allocated to sale portion; his total basis is $20K).  


THIS QUESTION ASKED WHAT THE LAW WAS AND NOT WHAT IT MIGHT HAVE BEEN.  THERE WAS NO NEED (AND ON AN EXAM THERE WOULD BE NO CREDIT) FOR A DISCUSSION OF WHAT WOULD HAPPEN IF THIS WERE TWO SEPARATE TRANSACTION OR IF WE TREATED THE WHOLE THING AS A GIFT.

MOST IMPORTANTLY, THERE WOULD BE NO CREDIT FOR DISCUSSION OF WHAT RESULTS WOULD BE IF WE ALLOCATED ONLY PART OF BASIS TO THE SALE PORTION PER THE USUAL ALLOCATION RULE.  THAT RULE DOES NOT APPLY HERE. 

DO DISCUSS POSSIBLE CHARACTERIZATIONS IF MORE THAN ONE IS POSSIBLE.  BUT HERE, BASIS ALLOCATION RULE IS NOT REASONABLY POSSIBLE, SO DO NOT SPEND TIME DISCUSSING IT (EXCEPT MAYBE TO SAY IT DOES NOT APPLY) UNLESS YOU HAVE LOTS OF EXTRA TIME.

Cash Method

· Under the cash method, revenue is recognized when cash is received and expenses when claims or obligations are paid 
· Items (cash, property, services) are income in the year actually or constructively received 

· Examples of constructive receipt include:
· Uncashed dividend checks

· Undeposited salary checks

· Matured interest coupons

· Interest on savings accounts 

· Reg. sec. 1.451-2(a) specifies:  "Income although not actually reduced to a taxpayer's possession is constructively received by him in the taxable year during which it is credited to his account, set apart for him, or otherwise made available so that he may draw upon it at any time or so that he could have drawn upon it during the taxable year if notice of intention to withdraw had been give.  HOWEVER, INCOME IS NOT CONSTRUCTIVELY RECEIVED IF THE TAXPAYER'S CONTROL OF ITS RECEIPT IS SUBJECT TO SUBSTANTIAL LIMITATIONS." (Emphasis added).
· More generally, items constructively received include "items that could be turned into cash with a stroke of the pen, but that the taxpayer deliberately or inadvertently fails to present for payment of otherwise process in the normal fashion," that is, when the delay in converting into cash is purely voluntary.
· These rules can be stringent. Sickness, for example, does not prevent constructive receipt. 
· Generally, the date specified for payment by contract is controlling and payment is not constructively received before that date even if the obligor would have agreed at the outset to an earlier date or would have paid before the due date.
· The due date and the date of inclusion can be postponed even further if the postponement occurs before the date the payment is due under the contract.
· However, postponement of an amount already due does not postpone taxation, even if the further postponement is supported by consideration.
· Examples of substantial limitations preventing constructive receipt include: 
· having to surrender an insurance policy to receive the cash surrender value or 
· having to retire to receive severance pay 
· Amend: no constructive receipt because the promise of payment to a taxpayer on a future date does not amount to immediate constructive receipt of that payment 
· Economic Benefit or Cash Equivalence: Under this doctrine, the taxpayer must have actual receipt of some kind of property or right to receive property in the future in order to be taxed.
· Often, the answer to whether there is a present economic benefit turns on whether what is received is capable of valuation.  Can it be marketed, sold, or converted into cash?  Is there a market for it?
· Clearly, a public company's marketable bonds given as payment for services would be taxable.
· The more the security, the more likely it will be taxed currently as a cash equivalent 

· Constructive receipt asks whether the taxpayer could get the cash or cash equivalent without significant effort or limitation.

· Economic benefit asks whether what the taxpayer does have is a cash equivalent. 
· Pulsifer: economic benefit = interest bearing account (as good as gold); constructive receipt: father can just sign to get it 

· Minor: deferred compensation in a trust; not economic benefit because still at risk; Minor had no right or ownership interest in the trust 

Review Questions:
1. When does Derek, a cash method dentist, report gross income in the following situations?

a. D fills a cavity for a patient on Dec. 15.  He bills the patient for $100 on Dec. 20; the bill is paid Jan. 15.
i. Income in Year 2 
b. D rendered a bill and took a note in the sum of $100 in payment for services; the note was paid in Jan.
i. Income in Year 2 – naked promise 
c. On Dec. 28, the patient charges $100 to his credit card.
i. Income in Year 1 – economic benefit 
d. D sues X for breach of contract, alleging damages of $10,000.  Three years later, D is awarded a final judgment in the amount of  $9,500.  In the fourth year, the judgment is paid in full.
i. Income in Year 4 (when he receives the money) 
e. D pays in advance for a three year subscription to a dental journal.
i. Takes deduction as business expense when he pays 
2. Does constructive receipt or economic benefit, or both apply? 
a. Burrus agrees that Amend can come in at any time, and Burrus will then write out a check for him. 
i. Constructive receipt – no substantial burden; taxed now because can get the funds at any time 
b. Burrus has made out a check payable to Amend.  Amend has picked it up but not deposited it.
i. Constructive receipt and economic benefit (has the check) 

c. Burrus puts the money for the wheat in a special account at the bank in Amend’s name, but with instructions that the money cannot be withdrawn until January 1 of next year.
i. Economic benefit – set aside only for him; taxed now 

d. Burrus signs a written contract, duly notarized, promising to pay Amend on January 1 of the following year.
i. Naked promise – not taxed until he receives the money 
Installment Method 
Key Points:

Open Transaction Doctrine
Open transaction doctrine allows for the recovery of basis prior to being taxed when the taxpayer is paid in incremental payments.  
 

In Burnet, taxpayer sold shares of her stock to a company in exchange for $120,000 and a promise for installment payments in accordance to their profits.  Because the value was uncertain the court held that the gains were not to be recognized until the basis was recovered.  
 

The open doctrine allows for: 
· The recovery of basis first, and 
· Postpones tax until the entire basis is recovered similar to the Inaja rule, which is very pro taxpayer.
 

The policy behind the implement of the open transaction doctrine is when the installment payments have an unascertainable fair market value because of their unpredictability.
Installment Method is a special method of accounting that either cash basis or accrual basis taxpayers can use for a particular transaction. It is also pro-taxpayer. 

· Requires a disposition of property 

· AND at least one payment after the close of the taxable year in which the disposition takes place 
· There are limitations:

· Dealers cannot use the provision. That is, inventory is not eligible for installment treatment 

· To determine taxable amount under installment method, multiply each payment, including any down payment, by a fraction equal to

· Gross profit divided by Total contract price 

· Gross profit = total contract price – basis 

· Total contract price = face amount of note or notes + any payment made in year of disposition 

Example:

1. I sell property with AB of $40k for $20k in year of disposition and a note, with adequate stated interest, for a payment of $16k each year for 5 years. 

· Total contract price is $100k ($20k + 5(16k)) 

· Gross profit is $60k ($100k - $40k) 

· Gross profit percentage is 60% (60/100) 

· In year 1, $12k of the $20k received is gain realized; $8k is return of basis 

· In years 2-6, $9.6k of the $16k received is gain realized; $6.4k is return of basis 

Special rule #1:  If you do not know the exact amount of the contract price, but do know the maximum possible, use the maximum for your calculations.
Example: 

· I sell 100% of the stock of a business corporation, with a basis of $40k, on the following terms:  a payment of $20k in the year of disposition and payments for each of the following five years equal to 10% of net profits, with a maximum total for all payments of $120k. 
· I treat the contract price as if it will be $120k.

· My gross profit is thus $80k ($120k – $40k).

· My gross profit percentage is thus 66.66% ($80k/$120k).

· In the year of sale, I treat $13,333 as taxable gain and $6,666 as recovery of basis.

· If in year 2, 10% of net profits comes to $24k, I treat $16k as taxable gain and $8k as recovery of basis.

Special rule #2: If you do not know the maximum contract price, but do know the maximum period of time over which payments will be made, allocate BASIS in equal amounts over that time period.
Example: 

· I sell property with a basis of $40k for payments equal to 10% of profits for each of eight years.

· Each year, I treat $5k of the amount I receive as recovery of basis.

Special rule #3:  If neither maximum amount nor maximum time is known, recover basis under the installment method in equal amounts over 15 years.
· This scenario is considered unlikely.
· The regulations state that such arrangements will be closely examined to determine whether a sale in fact has occurred or whether the arrangement in fact represents rents or royalties.
· Perhaps the facts of Burnet v. Logan fit here. 
Taxpayers can elect out of the installment method and treat the transaction as closed 
· Cash basis taxpayers would include the FMV of the installment note or notes in AR.
· Accrual basis taxpayers would include the face amount of the note in AR.
Caution:  Authorities disagree about the extent to which taxpayers can elect out of installment method and treat the transaction as open.

If a cash basis taxpayer elects out of installment sale treatment, naked promises to pay must be assigned a FMV and included in AR.

Installment Sale Problems 

1. Seller owns a parcel of land which he purchased five years ago for $4,000.  He sells it to Buyer under an arrangement in which Buyers pays him $3,000 in cash in the current year and gives him four notes, each bearing market interest, to be paid off in each of the succeeding four years.  Each note has a face amount of $2,000 and a fair market value of $1,750.  Disregarding the tax consequences of any interest payments, what results to Seller in each of the five years if

 

a)  Seller reports on the installment method;
Gross profit (total contract price – basis) divided by Total contract price 


11k – 4k = 7k divided by 11k = .64 

In Year 1, 3000 x .64 = 1920 income 

In Years 2-5, 2000 x .64 = 1280 income 
 

b)  Seller is a cash basis taxpayer and elects not to use the installment method.
AR – AB = GR 

10K – 4k = 6k capital gain 


$1750 basis in each note 


$250 of ordinary income just collecting on the note 
 

2. Seller owns 100% of the stock of a corporation which she purchased several years ago for $12,000.  She sells it to Buyer under an arrangement in which Buyer pays her $5,000 cash in the current year and 10% of the gross profits, plus interest on each payment, for the next four years.  Seller receives the following payments (plus interest) over the next four years:  $4,000; $6,000, $5,000, and $5,000.  Disregarding the tax consequences of any interest payments, what result to Seller in each of the five years if the installment method applies?

12k/5 = 2400 of the amount received is recovery of basis 
 

3. Same facts as #2 above, except that Seller is to receive $5,000 in cash and in addition, 10% of gross profits (plus interest) until total payments, including the cash received upon sale, reach $30,000.

30,000 -12,000/ 30,000 = 18/30 = .6 of each payment = gain 
 

4. What would be the tax results in #2 and #3 above if the open transaction doctrine of Burnet v. Logan applies instead of the installment method?

#2 ( year 3 taxed on $3k (Inaja) 


Not likely to get open transaction treatment 



More sophisticated about finding FMV 

Installment Method Review Problem
Alice, a cash basis taxpayer, purchased a piece of real property two years ago.  The price for it was $220,000.  Alice paid $40,000 in cash and raised the other $180,000 by taking out a non-recourse loan on stock she owned for that amount.  (The bank was willing to give her this non-recourse loan on the stock because it had appreciated so much in value.)  The property had once been used as a boys’ summer camp, but had been abandoned for some time when Alice bought it.

 

What would be the income tax consequences to Alice if early next year, she sells the property to an established real estate developer with a good but not great credit rating on the following terms: $40,000 at the time of the sale and a note promising 10% of the profit on sale of the lots from Property B for each of the following 9 years, with a maximum amount above the down payment (that is, without considering the $40,000 payment in the year of sale) of $400,000.  The agreement provides for adequate interest for payments in years 2-10. 

 

In discussing the tax consequences of this scenario, do the calculations for the year of sale.  Assume that the fair market value of the note is $360,000.  Be sure to discuss all possible options.

· Installment Method:
· $440k - $220K/$440K = 50% 

· 40k x 50% = 20K gain (capital gain – long term) 

· Open Transaction:

· Weak argument for open transaction because we have the FMV 

· Closed Transaction: 

· $400k - $220k = $180k GR (capital gain) 

Review Questions: 

· Michi sells the stock of her company to Juan on the following terms: a note, with adequate stated interest, to pay her $25,000 a year for five years, starting the year after the sale. Michi’s basis in her stock is $25,000.
· 125,000 – 25,000/125,000 = .8 = 20,000 gain 
· Michi sells the stock of her company to Juan on the following terms:  $25,000 in year of sale, plus a note (with adequate interest) to pay her $20,000 for each of the 5 years following the year of sale. Michi’s basis in her stock is $25,000.
· 125,000 -25,000/125,000 = .8 

· Michi sells the stock of her company to Juan on the following terms:  $25,000 in year of sale and then 10% of gross profits for the next 5 years, until the sooner of 5 years or profits (not including the down payment) total $125,000.  Michi’s basis in her stock is $25,000.
· Michi sells the stock of her office building to Juan on the following terms:  $25,000 in the year of sale and 10% of profits until the land is re-zoned for condominium development.  Michi’s adjusted basis in the building is $25,000.  
· 25,000/15 = 1666.67 (recovery of basis) ( 23,333 is capital gain
· Special Rule #3
Accrual Method
Under the accrual method of accounting, revenue is recorded when products are sold, services are provided, or enterprise sources are used, not when payment is received.  
· Accrual tries to match revenue and expenses to paint the most accurate financial situation.  
· Accrual method taxpayers consider income received when the right to receive an amount becomes fixed, not only when it is received.
· It is the right to receive the income, not its actual receipt, that determines inclusion 
· Doubt as to validity of the claim generally prevents accrual
· Doubt as to whether a claim will be collected generally does not prevent accrual 
· Insolvency prevents accrual 
· For tax purposes, accrual basis taxpayers generally include prepaid income in income when paid 
 

In Georgia School Book, on an accrual method the taxpayer should have recorded income when the transactions had taken place giving the book broker the right to receive income at a later date but sought to delay the taxation of the money until it was received. 
· The court held that if there is no reasonable expectancy to receive the payment for insolvency or in litigation, the taxpayer does not have to report income for that year.  
· However, if the payment is merely postponed, and the right to receive the money under the accrual accounting method the income should be included in income. 
If I am an accrual basis taxpayer and perform services for you in year 1 and get paid in year 2, when do I have income? 

· In year 1 
In AAA, the taxpayer’s income is derived primarily from dues paid one year in advance by members of its clubs. 
· The taxpayer sought to defer the pre-paid accounts on a pro rata basis but the court held that the prepaid income was required to be reported in the year it was received.  
· As a rule, the method of treatment for prepaid income is that it should be considered taxable in the year it was received, which was later overruled by §456.
 

There are some statutory exceptions to the rule that prepaid income must be reported in the year received:
· §455 states that prepaid subscriptions for newspapers, magazines, etc. are not includable as income when received and may be reported as income under a pro rata schedule.
· §456 states prepaid dues of membership organization are not required to be included as income when received and may report them ratably as services are performed for up to 36 months
· §456(e)(3) explains that “membership organizations” means a corporation, association, federation, or other organization.  
· However, “health clubs” do not apply under this special provision, as they are “for profit” organizations, where as AAA is a non profit, unlike a health club, where all the extra money received and not paid out for services is credited against the next years dues to reduce the overall cost to the club members
The accrual method seeks to match costs of producing revenue to the recognition of that revenue 

· Reg. sec. 1.461-1(a)(2) gives the rule for deductions by accrual basis taxpayers: 

· All expense is deductible for the taxable year in which all the events have occurred which determine the fact of liability and the amount thereof can be determined with reasonable accuracy 

· For deductions under the accrual method, section 461(h) adds a requirement of “economic performance” for deductibility 
· Makes it clear that no deduction can be taken until economic performance occurs
Accrual of Income and Expenses 

· Include amounts in income:

· When all events have occurred that fix the right to receive the income; and 

· The amount of the income can be determined with reasonable accuracy 

· Deduct amounts as an expense when:

· All events have occurred that establish the fact of liability; and 

· The amount of liability can be determined with reasonable accuracy;

· Economic performance requirement of section 461(h) has been satisfied 

Review Questions:
When do Widget Corp. and Mr. Carpet Cleaner have income or deduction, as relevant, if

· (a) Widget, an accrual-basis taxpayer, orders $3,000 worth of carpet cleaning from Mr. CC, a cash basis taxpayer, on Nov. 1 of Year 1.  Widget receives and pays for the carpet cleaning on Feb. 1 of Year 2. (Assume both are calendar year taxpayers.)
· CC – income in Year 2 
· Widget – deduction in Year 2 

· (b) Same as (a) above, except that Widget pays the $3,000 to Mr. CC on Dec. 1 of Year 1 

· CC – income in Year 1 

· Widget – deduction in Year 2 
· Same as (a) above, except that the carpet cleaning occurs on Dec. 1 of Year 1.   
· CC – income in Year 2 

· Widget – deduction in Year 1 

Personal Deductions 
· Costs of doing business are deductible (unless there is an investment creating a capital asset) 
· Section 262 tells us that, unless expressly provided in the Code, there is no deduction for personal, living or family expenses 
· Section 163 – deductibility of interest 
· For individuals, sec. 163(d)(1) permits deduction of investment interest only to the extent of investment income 
· Example: Borrow money to buy bonds and stocks and pay $1200 interest on that loan in Year 1. I get $1000 in payment of interest and dividends in year 1. I can deduct $1000 in Year 1. 
· Example: Borrow money to buy stock and pay $1200 in interest on that loan in Year 1. The stock pays no dividends in year 1. I can deduct nothing in Year 1. 
· Section 163(h) disallows deductions for personal interest with exceptions, including that for “qualified residence interest” 
· There are two categories of “qualified residence interest”
· Acquisition indebtedness
· Limit of $750,000 principal on new loans under 2017 Tax Legislation 
· Debt incurred in acquiring, constructing or substantially improving any qualified residence of the taxpayer 
· Secured by the residence 
· Refinancing limited to outstanding debt at time of refinancing 
· Principal residence and one other residence used as such ($750k for both homes)
· Home equity indebtedness 
Example 1 from IRS: In January 2018, taxpayer gets a $500k mortgage to buy a main home with a FMV of $800k.  The following month, the taxpayer takes out a $250k loan to put an addition on the main home.  Both loans are secured by the main home and the total does not exceed the home’s cost.  Because the total amount of both loans doesn’t exceed $750,000, all the interest paid on the loans is deductible.  But if the taxpayer used the home equity loan proceeds for personal expenses, such as paying off student loans and credit cards, then the interest on the home equity loan wouldn’t be deductible.
Example 2 from IRS: In January 2018, a taxpayer gets a $500k mortgage to buy a main home.  The following month, the taxpayer takes out a $250,000 loan to buy a vacation home.  The loan is secured by the vacation home.  Because the total amount of both mortgages does not exceed $750,000, all the interest paid on both mortgages is deductible.  However, if the taxpayer took out a $250k loan on the main home to purchase the vacation home, then the interest on the home equity loan would not be deductible.
Example 3 from IRS: In January 2018, a taxpayer takes out a $500k loan to purchase a main home.  The loan is secured by the main home.  In February 2018, the taxpayer takes out a $500k loan to purchase a vacation home.  The loan is secured by the vacation home.  Because the total amount of both mortgages exceeds $750,000, not all of the interest paid on the mortgages is deductible.
Hypo: I made a down payment of $100k and borrowed $600k to buy my house. When $600k of debt is still outstanding 

· I borrow $100k to add a new room ( deductible 

· I borrow $200k to add a new floor ( $150k is deductible 

· Instead, I borrow $100k to buy furniture ( not deductible 

· Instead, I borrow $100k to buy a car, pay for cosmetic surgery and send my kids to college ( not deductible 

Excerpt from Examples and Explanations on Personal Interest

Examples

§1 
In year one Alice purchases property to be used as a principal residence for $400,000, using $50,000 of savings and borrowing $350,000 from the Friendly Bank.  The loan is secured by the property.  In year three the residence is worth $500,000.  What portion, if any, of the interest paid on the following alternative loans can be deducted?

a.
Alice borrows an additional $60,000 from the Friendly Bank, secured by her residence.  She uses the money to add an additional room to her home. – Deductible 
b.
Assume the same facts as in part (a) except that Alice uses the loan proceeds to purchase a luxury automobile. – Not deductible 
c.
Assume the same facts as in part (a) except that the loan is not secured by Alice’s home. – No, needs to be secured by the residence 
d.
Alice borrows $120,000 from the Friendly Bank, secured by her residence, and uses the money to purchase a luxury automobile and take a trip around the world. – Not deductible 
e.
Alice borrows $120,000 from the Friendly Bank and uses the proceeds to add a home theater and a pool to her residence. – Deductible 
§2

a.
In July of year one Jim purchases a home that he will occupy as a principal residence for $220,000, using $20,000 of his savings and borrowing the other $200,000. The loan is secured by the home.  During the remainder of year one, Jim pays $8,000 of interest on the mortgage.  What is Jim’s deductible interest for year one? – Can deduct all $8k 
b.
Suppose that by year five interest rates have dropped and Jim’s home is worth $400,000.  Jim decides to refinance his loan, which has an outstanding principal amount owed of $180,000.  He borrows $320,000 secured by the home and uses $180,000 of the amount to repay the original loan.  He uses the remainder of the amount borrowed to purchase an automobile and boat and pay for his daughter’s college education.  During year five Jim makes monthly interest payments totaling $15,000.  What is Jim’s deductible interest in year five? 180,000/320,000 x 15000 = how much of interest will be treated as acquisition indebtedness 

- Amount of outstanding principal at time of refinance = $180K, but borrowed $320K 
§3
Eve has a mortgage of $800,000 on her principal residence, which is worth $1,200,000.  What portion of the interest on the following alternative additional loans can be deducted?

a.
In year one Eve purchases a vacation beach house on Cape Cod for $500,000, using $100,000 of savings and borrowing $400,000.  The loan is secured by the beach house. – None already past the $750k limit 
b.
In year one Eve instead purchases a smaller beach house for $250,000 and also purchases a ski chalet in Vermont for $250,000.  On each vacation home she puts $50,000 down and borrows $200,000.  The loan on the beach house is secured by the beach house and the loan on the chalet is secured by the chalet. – None already past the $750k limit 
§4
Fay purchased a home for $30,000.  The mortgage has been completely repaid and the home is now worth $300,000.  In year one Fay borrows $160,000, secured by her home, and purchases a recreational vehicle, boat, and trailer costing a total of $160,000.  

a.
What portion of the interest paid in year one on the $160,000 loan is deductible? – None 
b.
Suppose, instead, that in year one Fay sold her home for $300,000, used $140,000 of the proceeds to purchase the RV, boat, and trailer, and at the same time purchased a new home for $300,000, using $160,000 of the proceeds from the sale of her old home and borrowing $140,000, secured by the new home.  What portion of the interest paid in year one on the $140,000 loan on the new home is deductible? – All of it because new home 
Treatment of Interest

1.  We have many different categories of interest, and we treat the categories differently.  Sometimes we permit all interest to be deducted; sometimes none; sometimes some.  For the most part, subject to the rules discussed below, we use a tracing rule to determine how to treat the interest.  That is, we look to see what the borrowed money was used for, not what secures the loan.

2.  Thus, both A and B have $10K in savings and plan to buy $10K in corporate (taxable) bonds and a $10K pleasure boat.   To do so, each will borrow $10K.

A uses the cash to buy the bonds and borrows to buy the boat.  A gets no interest deduction, because the borrowed funds were used for personal consumption.

B uses the cash to buy the boat and borrows to buy the bonds.  Under the rules applicable to investment interest, B can deduct the interest on the loan to the extent B receives interest on the bonds.

3.  If borrowed funds are mixed with funds that are not borrowed in the same bank account, complicated rules govern.  In general, it is as if the borrowed money is oil and the other money is water.  It is assumed that after 15 days the borrowed funds rise to the top and what thereafter comes out of the account first is the borrowed funds.  (Thus, it may be better to open separate banking accounts.)

4.  For interest governed by the home equity indebtedness rules of section 163(h)(3)(C)) and for interest governed by the rules relating to tax-exempt income under section 265(a)(2) – which we did not cover,  the security for the loan does matter.

5.  Now, total qualified residence interest only on loans of $750,000 for loans made in 2018 and after can be deducted.  All loans must be made to acquire, construct or substantially improve the residence that secures that loan.  The $750,000 total can apply to a main residence and one vacation home.  

Medical Care Deduction – Section 213 
· Deduction for medical deduction only above 7.5% of AGI 

· Under section 213, medical care includes:

· Diagnosis of disease

· Cure of disease

· Mitigation of disease

· Treatment of disease

· Prevention of disease

· Purpose of affecting structure of function of body 

· Certain transportation costs

· Certain lodging costs 

· Taylor v. CIR: can’t deduct payment or paying sometime to mow lawn even though doctor told him not to mow his own lawn; can get a family member to do it 

· Ochs v. CIR: no deduction for sending kids to boarding school; however, if he sent the wife away for treatment that would have been deductible 

Charitable Contribution Deduction

· Any quid pro quo, except de minimis ones (such as address labels), reduces the deduction 
· Ottawa Silica: got benefit for donating land for high school (accessible roads furnished by state); did not allow deduction 
· All c-3’s must serve a public purpose and not engage in activities clearly contrary to public policy 
· Bob Jones University: don’t get tax exemption because discriminated against interracial marriage and dating; against fundamental public policy 
· IRS has applied Bob Jones only to racial discrimination in connection with education (not religious organizations) 
Deducting Legal Expenses 
· U.S. v. Gilmore: divorce; trying to deduct legal expenses as a business expense; Key: origin of the claim and not consequences 

· Origin of the claim was divorce (personal) 

· Origin of claim test: tax treatment of litigation recoveries, settlements, and related fees depends on the origin of the claim, not the consequences of the failure to defeat the claim 

· Application: rule does “not contemplate a mechanical search for the first in the chain of events which led to the litigation, but rather an examination of all the facts.” 

· Supreme Court: under origin of the claim test, recovery should be taxed in the same manner as the item for which it is intended to substitute 

· The expense of prosecuting a lawsuit is generally deductible to the extent damages would be included in income if recovered

· Hypo: Drug dealers can deduct 
· Hypo: Trader can deduct, but not the collector 

Current v. Capital Expenditure 
· Example: land is non-depreciable property cannot deduct cost of land ever 
· Basis rule: purchase of a nonwasting asset should not be deductible, in year of purchase or in subsequent years 
· Test to determine if you can deduct it now: does expense create a long-lived asset (often called an investment)? If so, no current deduction 

· The expense is capitalized and it becomes or is added to basis 
· Capitalized expenses of nonwasting assets are effectively deducted upon sale. 
· Encyclopedia Britannica: when the income is generated over a period of years, the expenditures should be classified as capital 
· Since the manuscript will generate income over more than one year, it should be capitalized 
· Today we have the uniform capitalization rules of section 263A
· Costs of producing self-created assets, such as the in-house production of a manuscript, must be capitalized 
· Applies to all manufacturers
· Exceptions for marketing, advertising, some G&A
· Midland Empire: allowed deduction to oil-proof basement; needed repair to continue to operate 
· The repairs merely served to keep the property in a operating condition over its probably useful life for the purpose for which it was used 
· Norwest Corporation: removal of asbestos must be capitalized if part of overall plan of rehabilitation 
· Summary: Deductible Repair vs. Capital Improvement
· Expenses for current year deductible in that year
· If asset has useful life of more than a year, must capitalize 
· Example of capitalized costs:
· Defending or perfecting title 
· Architect’s fees
· Commissions on purchase of securities 
· Exception: Incidental material and supplies (pens, small tools, goggles) can be deducted in current year even if will last more than one year 
· Standard for Repairs:
· Reg. sec. 1.162-4 explains that repairs can be deducted currently if they “neither materially add to the value of the property not appreciably prolong its life, but keep it in an ordinarily efficient operating condition.”
· Standard for Capitalization: 

· Reg. sec. 1.263-(a)(1) explains that expenses that are in the nature of replacements, that appreciably prolong the life of the property, that make good the exhaustion for which depreciation has been permitted, or adapt property to a different use must be capitalized.
· Expenditures that are part of an overall plan of remodeling or rehabilitation are generally also treated a nondeductible capital outlays. 

· Factors in categorizing: 

· Size of expenditure compared to value of “repaired” asset.  If small, more likely to be deductible.
· Whether expense could have been anticipated. If unexpected, more likely to be deductible.
· If these two clash, relative size seems to be more important.

· Additional factors: 

· Whether expenditures are regularly recurring 

· Whether future benefits are short-lived and variable
· Balancing burden of capitalizations vs. potential distortion of income.

· Example: New roof 

· If tornado damages the roof of a barn, cost of replacing can be deducted.

· If roof wears out from normal wear and tear, costs of replacing must be capitalized.
Annie’s Café and Bookstore Problem

 

Annie owns a combination café and bookstore.  She has had various folk groups come to play music in the café on weekend evenings.  She decides that she will make more money if she changes some of her operations.  Among the changes she decides to make is having rock bands rather than folk groups play on weekends.  She builds a stage for the rock bands and, for the sake both of neighboring businesses and her bookstore customers, adds soundproofing to the restaurant part of the business.  She takes out some of the bookshelves to expand the restaurant space.  At the same time, she reinforces part of the floor in the bookstore portion so that she can satisfy the building codes for taller bookshelves.  While making all of these changes, she does a number of repairs that she has been postponing, such as replacing worn patches of carpeting, painting the store, fixing some broken windows, etc.

 

What are the tax consequences of these actions to Annie?
· If she did the last three things (carpet, painting the store, fixing windows), then could have deducted 
· Altogether seems more like a rehabilitation plan when added to the other items, so it should be capitalized 

· Stage is capitalized expense ( adapting property to a new or different use 

· Soundproofing ( argue both sides 
· Expanding restaurant ( capitalized 

· Reinforcing floors ( capitalized (adapting property to new or different use) 
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